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Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 49795925
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 497959405 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the letter cluster that is related to the third letter cluster in the same way as the second letter cluster is related to
the first letter cluster.

DFH : WUS = EMO : ?
Options:

1. + PNL

7 % PNO

A % WUT

Question Number : 1 Question Id : 497959405 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3 3T THE &1 9440 H{ S ArE W THE ¥ 3E HE W T § FW TET 3N WHE T8 BN
THE ¥ FEOT Bl

DFH : WUS :: KMO : ?

Options:

1. v+ PNL

2 % PNO



3. % HJL

4. » WUT

Question Number : 2 Question Id : 497959406 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the term that is related to the third term in the same way as the second term is related to the first term.

BDF : 48 :: FHI : ?
Options:

1. = 240

2.« 430

180

-
%

Question Number : 2 Question Id : 497959406 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3F 9C F TOT H A A 98 F 3H THR ¥ FEOS § O TR ¥ T 9¢ 9B 9% & §Ed g
BDF : 48 :: FHJ : ?

Options:

1. = 240

2. v 480



Question Number : 3 Question Id : 497959407 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word which is related to third word in the same way as the second word is related to the first word.

Court : Judgement ; : Class Room : ?
Options:
1. ® Teacher

2 x College

3. « Education

4. % School

Question Number : 3 Question Id : 497959407 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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e ot - wew 2

Options:
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Question Number : 4 Question Id : 497959408 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
Select the number that is related to the third number in the same way as the second number is related to the first number.

3:128::10:7
Options:
1. = 100

? & 200

(%]
®
[ ]
| ]
[ i

A % 128

Question Number : 4 Question Id : 497959408 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

3F HEAT & 944 F Al A BT § 38 RE FaUT § AY gEd JEA Tgd 8T ¥ HEtod gl

8:128 - 10 = 2
Options:

1. = 100

2. » 200



3. % 228

4. » 128

Question Number : 5 Question Id : 497959409 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
Select the figure that is related to the third figure in the same way as the second figure is related to the first figure.

Options:




Question Number : 5 Question Id : 497959409 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

37 O &1 70a & A S B ¥ 30 o ¥ a@9d g 99 guu BF gge B ¥ 56T gl

Options:




Question Number : 6 Question Id : 497959410 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Pick the odd one out.
Options:

1. & Oslo

7 Kyat

3. # Cuba

4 » Fiji

Question Number : 6 Question Id : 497959410 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T 7 O 3 RuA ¢ 38 39T FI

Options:



Question Number : 7 Question Id : 497959411 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Identify the odd triad from among the given number triads.

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:

1. 2,7:53

9 3,534

9 4,6,50

4. 2.4,18

Question Number : 7 Question Id : 497959411 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

feT 717 T B (3oE) # ¥ A IEE # 9g=E|

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.

Options:
1. 2,.7,53
9 3,5, 34

3. 4,6, 50



4 2, 4,18

Question Number : 8 Question Id : 497959412 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Pick the number that is different than the rest.
Options:

1. =

r_"‘_‘]
2

2w 31

Question Number : 8 Question Id : 497959412 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T 71T FETHt H § 3eET §EAT F g0

Options:

1. % 37
2 = 31
3. v 33
4., x 29

Question Number : 9 Question Id : 497959413 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Four figures marked 1. 2, 3 and 4 are given below. Three of the given figures are similar in a certain manner while one
figure is not like the other four. Choose the figure which is different from the other figures.

1 2 3 4
Options:

1. % 1

Question Number : 9 Question Id : 497959413 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TR RS 1,2 3,4 v R e g Rraw & Rr v fEr & § 99 &8 a1 58 v
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Question Number : 10 Question Id : 497959414 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If the following figure is folded to form a cube, which number will appear on the face opposite the number ‘6°?

3 2

Options:
T. = 2

2w 3

Question Number : 10 Question Id : 497959414 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ofg e s & e o9 s & T Aer 3w € & 7= 6 F Rl wee ¥ 3E W e o
wEr feas e

3 2

Options:



Question Number : 11 Question Id : 497959415 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
Three different positions of the same dice are shown below. Which number is on the face opposite to the face showing

the number 37

=,

) P
2 <1'\\“ 2 5
. _ -~
JPIE
% %ﬁ“m#

Options:

1. % 1

Question Number : 11 Question Id : 497959415 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 12 Question Id : 497959416 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Identify the correct mirror image of the given figure when the mirror is placed to the right of the figure.

==
<'.‘.=

Options:



2.«
T=>
<.‘=
3. =
<al
=
4 =

Question Number : 12 Question Id : 497959416 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 13 Question Id : 497959417 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Identify the correct water image of the combination given below.

MAINSTREAM

Options:

1. » MAIATZNIAM
2.« INVIVIRLAEVIN

3. v INVINRLEEVIN



2.« IAMUUMAIATE

Question Number : 13 Question Id : 497959417 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A R 71v gaisa fr TEr I A (Sl ©fd) # 9gu|

MAINSTREAM

Options:

1. « MAJATZNIAM

2. « INVINRLYUEVIN

3. » INVIRLBEVIN

4. « IAMWMAIATE

Question Number : 14 Question Id : 497959418 Question Type: MCQ Option Shuffling : Yes

Correct Marks: 1 Wrong Marks: 0.25

Given here is a piece of transparent paper with some patterns on it. How will the sheet appear when it is folded along
the dotted line?

4

Options:

= =
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Question Number : 14 Question Id : 497959418 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 15 Question Id : 497959419 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

Which of the following option figures will replace the question mark (?) in the figure given below to complete the
pattern of the figure?

Options:

1. v




P %

Question Number : 15 Question Id : 497959419 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

dr U aT R F Y @ U R & ov Aea@d ¥ Fl9 @ Reew vF Res (7) 7 owe

AT
i 2
Options:

1. ¢

Question Number : 16 Question Id : 497959420 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25



In the Venn diagram given below, the square represents ‘boys’, the circle represents ‘tall persons’, the pentagon
represents ‘North Indians’ and the rectangle represents ‘food lovers’. The numbers given in the diagram represents the

number of persons of that particular category.

How many North Indian boys are tall persons but are NOT food lovers?

Options:
1.« 12

16

i
&

Question Number : 16 Question Id : 497959420 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

A= T T A9 3w #, T TEH F AT §, Iod ‘TS AFIAT F AT §, TIHIUT Feal STRAIT
T AT 7 3R 3T 'Hiew EET #r ger g1 3w # & 7% wEamr 3§ 99w Auh & safEadt &
TEAT SR g

Options:

1. v 12



Question Number : 17 Question Id : 497959421 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25
Vilas starts walking from his home and walks 30 m towards south; from there he turns left and walks 40 m. After that,

he turns right and walks 45 m. Then, he turns left and walks 30 m. Then. he turns left and walks 50 m. Then, he finally
turns left and walks 70 m. How far is he now from his home and in which direction with reference to his home?

Options:

1. & 5m North

7 % 5m, North

3 x 5m, South

4. « 25m, South

Question Number : 17 Question Id : 497959421 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

forT e W F T Y T ¢ AR WU Fr W 30 m TeAr §; TR IE 9 Jqear g AW 40 m
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Options:

1.%‘ 25mﬁ'{




2_3@5”1,%?

3_%5m__a"'l'_&‘-’l'UT

4. » 25 m, gf&or

Question Number : 18 Question Id : 497959422 Question Type: MCQ Option Shuffling : Yes

Correct Marks: 1 Wrong Marks: 0.25

At the time of sunrise. Lokesh is sitting facing a pole. If the shadow of the pole falls to his right, then which direction is
Lokesh facing?

Options:

7w West

3. # North

4 « South

Question Number : 18 Question Id : 497959422 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

TIleT % FAY, A 50 THR ¥ T ¢ & 3w Az A @ & AR g ofE w Fr o 3Ee o
3T BRET &, & e R fmm & 3 g =S d 2

Options:
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Question Number : 19 Question Id : 497959423 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25
Six friends Gopal, Sheela, Reena. Senthil, Hina and Gaurav are standing in a row. There are two persons between

Sheela and Hina. Reena is between Hina and Senthil. Only one person is standing before Gopal. Gaurav is between
Gopal and Hina, who is third from the back end of the row. Which two persons are standing between Sheela and Hina?

Options:
1. » Gopal and Reena

? . Gopal and Gaurav

3. # Gaurav and Senthil

A % Senthil and Reena

Question Number : 19 Question Id : 497959423 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

S 2rEg airarer, ofrer, far, A%, far st ot ves 9T & wE E o Hk fRer ¥ 9= o T £
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Options:

1. = 39rer 3T J&r




3.« FRg R @Y

4. » @EFe 3Rk J=r

Question Number : 20 Question Id : 497959424 Question Type: MCQ Option Shuffling : Yes

Correct Marks: 1 Wrong Marks: 0.25

Five buses for five different cities Agra. Kanpur, Lucknow. Meerut and Varanasi depart from five bus terminals T-1 to
T-5 but not necessarily in the same order. The Lucknow bus departs from T-2. The Varanasi bus does not depart from T-
1 or T- 4. The Meerut bus goes either from T-1 or T- 5. The Agra bus does not leave from T- 3 or T- 1. The Kanpur bus
leaves from T- 4. From which terminal does the bus for Agra leave?

Options:

3. o 1-5

A % T3orT-5

Question Number : 20 Question Id : 497959424 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

ST TEET-HERT R PRI, AR, FE@AF, Fe IR I & e 9= 58 9= 3w  ffFe 71 7 75
T oot £, 9fa =l FE T T ¥ = F & el aw@AF B 979 T-2 ¥ & a3 R
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Options:

1. = T-1

2. = T-3



3 ¢ T-5

4. » T3aw TS5

Mental Ability?2

Group Number : 2
Group Id: 49795922
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
Isthis Group for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

Mental Ability2

Section Id : 49795922
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 49795926
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 497959425 Question Type: MCQ Option Shuffling : Yes

Correct Marks: 1 Wrong Marks: 0.25

There are five teachers named A. B. C. D and E. Each of them teaches one of five different subjects i.e. Physics,
Chemistry, Botany, Zoology and Mathematics. C does not teach Botany, Chemistry or Physics. A does not teach Botany
or Zoology. Mathematics is taught by B. E does not teach Chemistry or Botany. Who teaches Physics?

Options:



A

(=Y
&

3. 8 AorC

] % AorE

Question Number : 21 Question Id : 497959425 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A B, C, D E&FF ¥ u= Begs & T 9= dae-3eEr Fvy v £ A & ot e, e
fame, aawfa Tam, =g Fee v ot C gawefa e, e Rew o #ifts Bee a8
tﬁﬂ?ﬂ%’lAmﬁmdmar%f&mﬁaﬁqwmﬁtBWW%WEWWIN
FATata s FE7 gerar g1 o sifos e e gear &7

Options:
1. = A
2. v E
3. &« AmWmC
4 % AIWME

Question Number : 22 Question Id : 497959426 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25



The following are the criteria set by a company for the post of Accounts Manager.

1. The candidate must have a Master of Commerce (M.Com) degree in Accountancy.
The candidate must have obtained more than 65% marks in the selection test and 70% marks in the interview.
The age of candidate should not be less than 30 years and not more than 35 years as on 1 April 2019,

Lol B &

The candidate must have at least five years’ work experience as an Accountant.

(a) If a candidate satisfies all the criteria except criteria no. 1 as given above, but has completed a Master of
International Business (MIB) course, she/he must be sent to the Head (Accounts) for further interview.

(b)If a candidate satisfies all the criteria except criteria no. 2. but has more than six years of work experience as an
Accountant, then the candidate must be sent to the Senior Accounts Manager for further interview.

The details of a candidate are given below. You have to take one of the following decisions based on the information
provided and the conditions and sub-conditions given above. Do not assume anything other than the information

provided in the question.

Manav has completed his M.Com degree in Accountancy. He also has an MIB degree. He has five years’ experience
working as an Accountant. He was born on 13 May 1987. He obtained 66% marks in the written test and 70% marks in
the interview.

Options:

1. + The candidate is to be selected.

2w The candidate is to be rejected.

3 » The candidate is to be sent to the Head (Accounts) for further interview.

4. » The candidate is to be sent to the Senior Accounts Manager for further interview.

Question Number : 22 Question Id : 497959426 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 23 Question Id : 497959427 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
The following are the criteria set by a company for the post of Accounts Manager.

1. The candidate must have a Master of Commerce (M.Com) degree in Accountancy.

2. The candidate must have obtained more than 65% marks in the selection test and 70% marks in the interview.
3. The age of candidate should not be less than 30 years and not more than 35 vears as on 1 April 2019,

4. The candidate must have at least five years’ work experience as an Accountant.

(a) If a candidate satisfies all the criteria except criteria no. 1 as given above, but has completed a Master of
International Business (MIB) course, she/he must be sent to the Head (Accounts) for further interview.

(b)If a candidate satisfies all the criteria except criteria no. 2. but has more than six years of work experience as an
Accountant, then the candidate must be sent to the Senior Accounts Manager for further interview.

The details of a candidate are given below. You have to take one of the following decisions based on the information
provided and the conditions and sub-conditions given above. Do not assume anything other than the information

provided in the question.

Rachana has completed an MIB degree with 54%. She has four vears® experience working as an Accountant. She was
born on 2 June 1986. She obtained 66% marks in the written test and 70% marks in the interview.
Options:

1. # The candidate is to be selected.

2 . The candidate is to be rejected.

3 » The candidate is to be sent to the Head (Accounts) for further interview.

4. » The candidate is to be sent to the Senior Accounts Manager for further interview.

Question Number : 23 Question Id : 497959427 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 24 Question Id : 497959428 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25
Two statements are followed by two conclusions numbered I and II. Assuming the information given in the statements

to be true, even if they do not conform to real-world knowledge, decide which of the conclusions logically follow(s)
from the statements.
Statements:
1. All officers are singers.
2. Some singers are musicians.
Conclusions:
I. Some singers are officers.
II. No singer is an officer.
Options:
1. « ©Only conclusion I follows

? w Only conclusion II follows

3. # Both conclusions I and II follow

Either conclusion I or IT follows

<,

&

Question Number : 24 Question Id : 497959428 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 25 Question Id : 497959429 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
Three statements are followed by four conclusions numbered I. II, IIT and IV. Assuming the information given in the

statements to be true, even if they do not conform to real-world knowledge. decide which of the conclusions logically
follow(s) from the statements.
Statements:

1. All girls are experts.

2. Some experts are tourists.

3. All tourists are foreigners.

Conclusions:
i Some foreigners are experts.
1L Some foreigners are girls.

III. No foreigner is a girl.

IV.  All tourists are experts.
Options:
1. » Conclusion I, I and I'V follow

? « Conclusion I and either IT or IIT follows

3. # Conclusion IV and either IT or IIT follows

4. % All conclusions follow

Question Number : 25 Question Id : 497959429 Question Type: MCQ Option Shuffling : Yes



Correct Marks: 1 Wrong Marks: 0.25
3 Fuat F g€ 7R TRy |, ||t3ﬂ¢|v%am%|mﬁamémﬁmm§maﬁ
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Question Number : 26 Question Id : 497959430 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the addresses given as options is exactly the same as the address given below?

P Narsinh Kumar Raghavan
House no. 5432/1. Silver Paradise
Kings Square, Nemesis Road.
Thiruchirapalli — 562 025

Options:



P Narsinh Kumar Raghavan
House no. 5432/1, Silver Paradise
Kings Square, Nemasis Road,

1. » Thiruchirapalli — 562 025

P Narsinh Kumar Raghawan
House no. 5432/1, Silver Paradise
Kings Square. Nemesis Road,

? w Thiruchirapalli — 562 025

P Narsinh Kumar Raghavan
House no. 5432/1, Silver Paradise
Kings Square. Nemesis Road,

3 Thiruchirapalli — 562 025

P Narsinh Kumar Raghavan
House no. 5432/1, Silver Paradise
Kings Square. Nemesis Road,

4. % Thiruchirapali—562 025

Question Number : 26 Question Id : 497959430 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Rl A RU AT gar # ¥ &9 91 91 7= @7 91T 99 & §A+ &7

P Narsinh Kumar Raghavan
House no. 5432/1, Silver Paradise
Kings Square., Nemesis Road,
Thiruchirapalli - 562 025

Options:

P Narsinh Kumar Raghavan
House no. 5432/1, Silver Paradise
Kings Square, Nemasis Road,

1. % Thiruchirapalli - 562 025



P Narsinh Kumar Raghawan
House no. 5432/1, Silver Paradise
Kings Square, Nemesis Road,

2 & Thiruchirapalli - 562 025

P Narsinh Kumar Raghavan
House no. 5432/1, Silver Paradise
Kings Square, Nemesis Road,

3.  Thiruchirapalli - 562 025

P Narsinh Kumar Raghavan
House no. 5432/1, Silver Paradise
Kings Square, Nemesis Road,

4. = Thiruchirapali - 562 025

Question Number : 27 Question Id : 497959431 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Six numbers are given below, two of which are the same. Find the two numbers that are the same.
(A) 254879381 (B) 254879831
(C) 254897381 (D) 254897381
(E) 254897831 (F) 258497381

Options:
1. # AandB

? % EandF

3. ¢ CandD



4 % CandE

Question Number : 27 Question Id : 497959431 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A O TEAIC & 7% g TS9H § & Us §AA gl 9 & U TH GEAT Hiadr gl
(A) 254879381 (B) 254879831
(C) 254897381 (D) 254897381
(E) 254897831 (F) 258497381

Options:

1. « A3RB

2 % E3RF
3. v C3HRD
4. = C3HRE

Question Number : 28 Question Id : 497959432 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Six symbol clusters are given below, two of which are the same. Find the two clusters that are exactly the same.
(A) &% 5#%S%#& %S
B &%3$&%S@#&%S
(C)&%S@%S@#&%S
D) & %SH%BS@WHS%S
(E)& % S#%S@#& %S

(F)&%E#‘!/nS@#&%S
Options:
1. #« BandC



? % AandD
3 % CandD

4] « EandF

Question Number : 28 Question Id : 497959432 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A< O 9o g T aw §, 9 ¥ @ 'F §AF g1 ¥ UF A TEg FiF § g
A) &% $SH#%S%#&%S
B)&%S&%S@H&%S
C &%S@%S@#8& %S

D)&%SH#%S@H#S$ %S

E)&%S#%S@#8&%$

F)& % $#%S@#& %S

Options:

1. « B3R C
2 % AIRD
3. = C3RD

4. ¢ E3RF

Question Number : 29 Question Id : 497959433 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Read the given information and answer the question that follows.

e A + B means ‘A is the father of B’
e A B means A is the husband of B*
e A ¥ Bmeans ‘A is the daughter of B’

e A - B means ‘A is the sisterof B”

HP+M~+ Q%N xT-U, then how is P related to N?
Options:
1. #= Brother

? % Son
3. « Husband

4. % Uncle

Question Number : 29 Question Id : 497959433 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

eafariiT Iaa & 98 3T 28 91 BT 717 w97 &7 337 2|

e A+BHFRHNTFA BaFTaT &
e A-BF ITFA Bamuadg
e AxBFTHTZ'A B Fradrg
e A+BFITFABHFTETLT'

TEP+M+QxNxT-Ug a P, N¥ g 9or ¥ gsfag 87
Options:

1. » 9%



Question Number : 30 Question Id : 497959434 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

Jiva is the daughter of Kartik. Kartik has two sons. Adah is the daughter of Mridula, who is the wife of Kartik’s son.
Veenu is Prem’s mother. Prem is the brother of Ashok, who is the father of Adah. How is Adah related fo Veenu?

Options:
1. » Daughter

? . Grand-daughter

Sister

>
%

A = Mother

Question Number : 30 Question Id : 497959434 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

ST wifdes #F 3 g1 Fide & & 3¢ §1 T Hger H I g, IR Fqger Ffde F & H T gl A
SH HT AT &1 GH M F S §, HT 0w T 1 Nar g1 er & S ¥ Fr gEy e

Options:

1. » &

2_ v ‘Zi"'IT-ﬁIE'E'IﬁT



Question Number : 31 Question Id : 497959435 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

In a code language, POSSIBLE is coded as 1615191992125, How would SERVICE be coded in the same language?
Options:
1. &= 1951722935

7 % 1951821935

3« 1951822935

A % 1951822835

Question Number : 31 Question Id : 497959435 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

U &I H9T H, POSSIBLE & 1615191992125 & &7 H &Iz &ar =mar &1 =€ F1F 9w # SERVICE
Fr g 9T § His T Fwem?

Options:

1. % 1951722935

2 % 1951821935

3. » 1951822935



4. % 1951822835

Question Number : 32 Question Id : 497959436 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
If in a code language. MAGNIFICENT is written as JOHBNFUOFDJ. How would PROMISCUITY be written in the

same language?
Options:
1. « INPSQSZUIVD

9 & INSPQIZUIVD

3 & INPSQIIUZVD

4 » INPSQIAUIVD

Question Number : 32 Question Id : 497959436 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

UF FIT HTST 'ff, MAGNIFICENT &I JOHBNFUOFDJ & &7 & for@r =mar %’, ar PROMISCUITY &r 34T
YT H FY g FJeem?

Options:

1. v JNPSQSZUJVD

2 % JNSPQIZUJVD

3. « JNPSQIJUZVD

4. %= JNPSQJAUJIVD



Question Number : 33 Question Id : 497959437 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

There are five boxes: A, B, C. D and E. Box B is twice as heavy as box A. Box C is 20 kg heavier than box E. Box D is
one-and-a-half times as heavy as box E. and box C is four times as heavy as box A. The weight of box E is 20 kg.
Which of the boxes is the heaviest of them all and what is its weight?

Options:
1. » C.60kg

9  C.40kg

4 % D.40kg

Question Number : 33 Question Id : 497959437 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

o @wd 28 A, B, C, D 3R EI 5159 B e A & Q[T #1 g dew C 9196 E & 20 kg oY 7l
slew D &TF0 E & 3% 71 14 ¢, 3R §lew C 9196 A & 91 7= 510 g1 9198 E & a9 20 kg g
H ¥ FiF T siew T o9y § R 3He 399 AT 87

Options:

1. = C, 60 kg

2 % D, 60 kg

3 o C, 40 kg

4. % D, 40 kg

Question Number : 34 Question Id : 497959438 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The total of three numbers is 120. The second number is two times the first number. The third number is three times the
first number. What is the third number?
Options:

1.

40

&

30

-2
#®

3'\7 60

80

=
%

Question Number : 34 Question Id : 497959438 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

& FEaTHt FT AT 120 ¥ gEE FEAT qgen HEAT ¥ @ I ¢ Ay §Ed 9ger §Edr ¥ A I g
el FET &= g

Options:

1. = 40
2 = 50
3. v 60
4. = 80

Question Number : 35 Question Id : 497959439 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the number that will come next in the following series.

15, 19, 28, 44, 69, ?
Options:



1. v 105

100

-2
#®

99

-
%

A % 103

Question Number : 35 Question Id : 497959439 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Frafaf@T 4@er & 3= JeT 3T W F oI9S Hi

15, 19, 28, 44, 69, ?

Options:

1. v 105
2. = 100
3. = 99
4 = 103

Question Number : 36 Question Id : 497959440 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the number that will come next in the following series.

40, 20, 20, 30, 60, ?
Options:



1. % 110

2 = 130

3 % 140

A » 150

Question Number : 36 Question Id : 497959440 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Frafaf@T 4@er & 3= JeT 3T W F oI9S Hi

40, 20, 20, 30, 60, 7

Options:
1. & 11D
2 % 130
3. = 140
4. v 150

Question Number : 37 Question Id : 497959441 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the letter cluster that will come in place of the question mark (?) in the following series.

FNV, CJQ. ZFL, 7. TXB

Options:



1. ¢ WBG

7 = WCG

3 % VBG

w

A % WCH

Question Number : 37 Question Id : 497959441 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e gaer # g7 fEw & Tu= W ¥ I 38R §Hg & 999 #+

FNV, CJQ, ZFL, ?, TXB

Options:

1. v WBG
2 % WCG
3. % VBG
4. %= WCH

Question Number : 38 Question Id : 497959442 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the figure that will come next in the following series.

Options:

Question Number : 38 Question Id : 497959442 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Tl gmer & 3= T 3w =B &7 99T #)

Options:

Question Number : 39 Question Id : 497959443 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the Venn diagram that best represents the relationship between the given set of classes.

Men, Gynaecologist, Doctor

Options:

O
MOO

4 v

Question Number : 39 Question Id : 497959443 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3F AT AW F IO FL A T F BT A0 T & 7 gout Fr gEw 3= 0% F T B

Tou, T T Rewe (TsAwataEe), EIETry

Options:



O
,.©0O

4, v

Question Number : 40 Question Id : 497959444 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

How many triangles are present in the figure given below?

Options:



Question Number : 40 Question Id : 497959444 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

4 o v R & foas T Hisg 27

Options:
1. = 18
2. = 20
3. x 21
4, v 22

General Awarenessl
Group Number : 3
Group Id: 49795923
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
Isthis Group for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0

Minimum Instruction Time: 0



General Awarenessl

Section Id : 49795923
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Sub-Section Number: 1
Sub-Section I1d: 49795927
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 497959445 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The ever popular antiseptic product called Dettol is a brand owned by which of these companies?
Options:
1. « Reckitt Benckiser Group

2 % Marico Group
3 % ITC Group

4. » Jyothi Laboratories

Question Number : 41 Question Id : 497959445 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

2T ATHF AlhuT TElteF 3aue Aeataied g 9T & T&Eiacd H 27

Options:

1, Y afEeR I




Question Number : 42 Question Id : 497959446 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The Christian festival of Easter always falls on which day?
Options:
1. » Wednesday

/8 Thursday

b

3 y Friday

4. . Sunday

Question Number : 42 Question Id : 497959446 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SATSTT T $TEX FT PR gA FE BF gmar 7

Options:



3 AUehdlT

4, v TR

Question Number : 43 Question Id : 497959447 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the National Institutional Ranking Framework (NIRF) 2019 ranking, name the college that got the top ranking. This
college completes a hat-trick in #1 ranking in 2019,

Options:

1. » Lady Sri Ram College for Women, Delhi University

2 w Hindu College, Delhi University
3 . Miranda House, Delhi University

/. = StStephens College. Delhi University

Question Number : 43 Question Id : 497959447 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT SRR e SAaw (NIRF) 2019 ¥R &, 2/ ifder T e #ro &7 717 3a5svl 50
Fort & 2019 7 # 1 IfFer 7 o= &few o #r &
Options:

1 & O A Flee BR A, e Treafage

o fazrer 23w, fewelr TnafecamerT



4« U T8 Fow, Red R

Question Number : 44 Question Id : 497959448 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The Ahom Empire flourished in which part of India in the 13th century?
Options:
1. # Northern India

? #% Western India
3. % Southern India

4« Eastern India

Question Number : 44 Question Id : 497959448 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

133 oaTedr H FEH FHT a|¢d¢ﬁm%mﬁﬁmﬁagmm

Options:

1. % 3cad §d

2w URTAr 69RA

3 x Gew daRa
4, » TS

Question Number : 45 Question Id : 497959449 Question Type: MCQ Option Shuffling : Yes



Correct Marks: 1 Wrong Marks: 0.25
The Security Printing and Minting Corporation of India Limited (SPMCIL) has got its own Security Paper Mill that
produces the paper for bank notes. Where is the Security Paper Mill located?

Options:
1. » Nashik, Maharashtra

Dewas. Madhya Pradesh

-2
&

3 . Hoshangabad, Madhya Pradesh

Kolkata, West Bengal

i
%

Question Number : 45 Question Id : 497959449 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

T Rifder v A& Frae= 3% 22ar Bf#es (SPMCIL) = 3= & ReaiE
quy faer & St S5 Al & BT 9uT F1 soea ST 2 9 e o
frer =t feum 2

Options:

1w =8 (A1), HERISE

2w SFTH, LT WO

3. v BRFEEE, ALY TS

A« leTerdr, qfREH Fee

Question Number : 46 Question Id : 497959450 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of these instruments is NOT a woodwind musical instrument?
Options:



1. & Flute
? % Oboe
3. « Sarod

4 = Clarinet

Question Number : 46 Question Id : 497959450 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A ¥ FiF W AET TF, TH YR H56 a6 IF gl ¢7

Options:

Question Number : 47 Question Id : 497959451 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The electoral bonds that facilitate making donations to political parties was announced in which Union Budget?

Options:
1. % Union Budget2015-16



? % Union Budget 2016-17

3 Union Budget 2017-18

4. % Union Budget2018-19

Question Number : 47 Question Id : 497959451 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT ot & & &4 $7 Fhawr & arer g ans Hr owor el fr He s s S
ofr?

Options:

1. « e g5 2015-16

2w FHaT s 2016-17

3 o HaT §9€ 2017-18

4.« AT =€ 2018-19

Question Number : 48 Question Id : 497959452 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

John Dalton, the pioneering atomic theory scientist, was born in which country?
Options:
1. = Austria

? % Netherlands



3. % France

4. » England

Question Number : 48 Question Id : 497959452 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

mmﬁlﬁ?ﬁﬁmaﬁﬁ%mﬂﬂﬂdrﬁﬁﬁﬁﬁﬁﬁ@'ﬁ?ﬂﬂ'ﬂﬁgmm

Options:

4, v TS

Question Number : 49 Question Id : 497959453 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The Bombay High Court has three bench courts. Which of the 4 cities listed below is NOT one of the benches of the
Bombay High Court?
Options:

1. » Aurangabad

?  Nagpur

3. v Pune



4. % Panaji

Question Number : 49 Question Id : 497959453 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

§FE BTsIe H o 99 HIE g1 A" QT 1T 4 gl F & FiA T IS FEHE H 9T H F T Gl g7

Options:

2_ ® .:4:
3. ¢ W
4. = 9O

Question Number : 50 Question Id : 497959454 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The devastating Latur earthquake (Maharashtra) happened in which year?
Options:
1. = 1989

7 & 1993

w

3. = 1999

i

A, % 2004

Question Number : 50 Question Id : 497959454 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25



FraerEpl ST ok (FERTSE) R a9 H garm or?

Options:
1 = 1989
2. « 1993
3 x 1999
4 % 2004

Question Number : 51 Question Id : 497959455 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
The city of Strasbourg is the official seat of the European Parliament. In which European country is Strasbourg located?

Options:
1. » Belgium

? % Austria

Switzerland

&

3.

4 .« France

Question Number : 51 Question Id : 497959455 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TErEEET ER TUNT FHE T AFRE We ¥ e e e g § g §7
Options:

1. = sfesaH



Question Number : 52 Question Id : 497959456 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

This institute was founded in 1878 as the British Imperial Forest School. It is now called the Forest Research Institute
(FRI). Where is it located?

Options:
1. + Dehradun

? % Darjeeling
3. % Nainital

4. % Rishikesh

Question Number : 52 Question Id : 497959456 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

$H TEUW # T 1878 # Rfey shfwe wRwe we & 79 7 g2 N 39 3@ vree Red
STECTIT (TH.3R.ATS.) &gl AT 2| T Fal f&ua g2

Options:

1, » SE0GE

2. » afifor



Question Number : 53 Question Id : 497959457 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

‘What is the name of the visa that enables you to travel to 23 European countries?
Options:

1. # Euro Visa
? . Schengen Visa

3w Europe Visa

4 % Baltic Visa

Question Number : 53 Question Id : 497959457 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

39 T F A FAT § S AT 23 TIANT AT FT AT FA H FETH TAT 82

Options:
1, & B
2 ¢ T S



Question Number : 54 Question Id : 497959458 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The Salar De Uyuni salt desert of Bolivia is supposed to be the home of 50-70% of the reserves of:
Options:

1. ® Uranium

? % Thorium

3.« Lithium

A = Silver

Question Number : 54 Question Id : 497959458 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Seltadr & HER & 345 a7® eae & Aeafeiad § & 58 Al &1 50-70% SR & e A
T 27

Options:

M
2 o« oOTEH
3. o CIEE P

Question Number : 55 Question Id : 497959459 Question Type: MCQ Option Shuffling : Yes



Correct Marks: 1 Wrong Marks: 0.25
If you see a sign '5T' while driving on an Indian road, what does that road sign mean?

Options:
1. % There are 5 turns ahead of the road

? % 5 kmis the speed limit of the road ahead

3 . Vehicles weighing more than 5 tonnes should not use the road

4. » Asignal with 5 roads branching out is coming ahead

Question Number : 55 Question Id : 497959459 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

I HT G TS5 W 96d Ida §85T 5T F &eg 2@ &, aF 92F & 39 9d'% & #47 Adad g7
Options:

1. « W% T AW 5 HIS 37 a8

2« 3Er & HEH W IS ToA & HOUERaH T 5 km g

3. v 5 T W AEF TIF Tl TEAT H FH TS H 3T QI FIeA 8T

4« 3 5 WS & TH =RIET = Il &

Question Number : 56 Question Id : 497959460 Question Type: MCQ Option Shuffling : Yes

Correct Marks: 1 Wrong Marks: 0.25

The SGS1 is a geostationary satellite that has been launched from French Guiana on behalf of another country. To which
country does the SGS1 satellite belong?

Options:
1. % South Africa



? % South Korea

3« Saudi Arabia

/4w Singapore

Question Number : 56 Question Id : 497959460 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SGS1 * it 3997 g 9% el 3e 7 qur i ov% ¥ BT T § died @A g g1 SGS1 3TE
=T § ¢ &8 gr ¥ =g 272

Options:

1. % GI&ToT 3Threr

2w GEUT SR

3. v UFa N

4, » R

Question Number : 57 Question Id : 497959461 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
Which of these Tamil Nadu-based freedom fighters earned the title of “Kappalottiva Tamilan’ (The Tamilian who ran a

shipping company)?
Options:

1. # Dheeran Chinnamalai

? w Subramaniya Siva



3 x Veerapandiya Kattabomman

4. « V.0.Chidambaram Pillai

Question Number : 57 Question Id : 497959461 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fF=fofe 7 ¥ oy afieers Taaaar 3o F Foaiear affee (@fFess e St o Rl
FIaT TS ¥) F @I 7T T

Options:

1« oRa FReawes

2 5 GEHIH forg (Subramaniya Siva)

3w AEEI FEEwEE

4. » 3. REFsE Fee

Question Number : 58 Question Id : 497959462 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Among the 4 pairs of Bollywood music directors listed, one pair are blood brothers. Name this sibling pair.
Options:
1. % Shankar - Jaikishen

? % Lakshmikanth - Pyarelal

3  Kalyanji - Anandji



4 % Nadeem - Shravan

Question Number : 58 Question Id : 497959462 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

frrafafe ardiges w=ha & & 4 92 § ¥, wF Ae o 550 (T ) 7 5§ WX
FT AT TS0

Options:

1. = oTRT- AR

2.« FEHEG- SORE

3. » FeIOE- HACH]

4. x FEH- SE0T

Question Number : 59 Question Id : 497959463 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
Which of these High Court's bench courts operates from Port Blair and is the apex body of the judiciary of Andaman

and Nicobar?
Options:
1. » PatnaHigh Court

2 w Telangana High Court

3 . Calcutta High Court

4. » Madras High Court

Question Number : 59 Question Id : 497959463 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

forafoia & ¥ i9 O 3=9 =gy $ 99 FI¢ 91 ol § Sgfeg gdr ¢ At og s sk
e Fr marowfeer fr gafes gzr 22

Options:

1. = 9T 3= AT

2 % OISl 359 OIS

3. « helehcdl 3=d AT

4. w HEH 3= ATl

Question Number : 60 Question Id : 497959464 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

The condition called leucoderma affects which of these human body parts?
Options:
1. ® Heart

? « Skin

WT s :
2 % Nervous system

4. % Blood

Question Number : 60 Question Id : 497959464 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

FOHISAT ATHE HIEAT AT R & [oha 397 &l FsTlad HLar g7

Options:




General Awareness?

Group Number :

Group Id:

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group?:
Edit Attended Group? :
Break time:

Group Marks:

IsthisGroup for Examiner?:
Revisit allowed for group Instructions? :
Maximum Instruction Time:
Minimum Instruction Time:

4
49795924
0

0

No

No

0

20

No

Yes

0

0

General Awareness?

Section Id :

Section Number :

Section type:

Mandatory or Optional:

Number of Questions:

Number of Questionsto be attempted:
Section Marks:

Sub-Section Number:
Sub-Section | d:

Question Shuffling Allowed :

49795924
1

Online
Mandatory
20

20

20

1
49795928
Yes



Question Number : 61 Question Id : 497959465 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

On which day of the year does the World Health Organization (WHQ) celebrate the World Health Day?
Options:
1. » 7thJanuary

2 w 7thFebruary

7th March

&

3.

4 o TthApril

Question Number : 61 Question Id : 497959465 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

9T Ty Terea (WHO) a¥ & 5 R M ey Rew #amEr 2

Options:

1. » 7 SwEdr
2 & 7 ®ED
3. % 7 AN

4, v 7 3HS

Question Number : 62 Question Id : 497959466 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

As per Hindu mythological lore, what is the weapon that is associated with Lord Parasurama? The birth of Kerala is
associated with Lord Parasurama throwing this weapon into the Arabian Sea.

Options:



Mace

(=Y
&

? « Axe
3. # Bowand Arrow

4 = Sword

Question Number : 62 Question Id : 497959466 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fig dIfOTer et & 3R, FFd # @ F19 & FRAR 7 RRH & I FE7 T 87 e
mmmamgmaﬁmsﬂgﬁmwaﬁmmﬁmﬂgm%l

Options:

1. = 9T

2.« ERl

Question Number : 63 Question Id : 497959467 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

India conducted joint military exercise called BOLD KURUKSHETRA 2019 in April 2019 with which country?
Options:

1. # Russia



? % Iran

3w Israel

/. . Singapore

Question Number : 63 Question Id : 497959467 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ARA o 3 2019 H 'dles FTIT 2019' 7" HFd Hed 30w HeaAfaiea # @ 5 3o & @y
ST e

Options:

1. » @

2_%%11?

3w FAUSA
4, ¢ TR

Question Number : 64 Question Id : 497959468 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which city in Central India is famous for its 'Diamond Railway Crossing'. a point where the North-South Railway lines
meet the East-West Railway lines?
Options:

1. « Nagpur

? % Indore



3 x Bhopal

4. % Nanded

Question Number : 64 Question Id : 497959468 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

FET TS HT R TR A THAE 9 Fieew & fow 9fdw @7 a7 e Bg € e se-amer
Options:

], o W

Question Number : 65 Question Id : 497959469 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In which year was the Postal Index Number (PIN) or PIN Code system started in India?
Options:
1. & 1947

i

7 % 1950

3 v 1972



e

A % 1998

Question Number : 65 Question Id : 497959469 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

AT H 9 3399 A () o1 O s gomelr g av o & o5 o

Options:

1. = 1947
2. = 1950
3. ¢ 1972
4. » 1998

Question Number : 66 Question Id : 497959470 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

From which country's embassy in London was the Wikil eaks founder Julian Assange arrested in April 20197
Options:

1. ¥ Ecuador

? % Columbia

3. ® Venezuela

4 = Bolivia

Question Number : 66 Question Id : 497959470 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25



T 2019 # FRRIFE & AT Jodd 3@ (Julian Assange) #T Fea H g &3 & ZaEw ¥
oA & war ar?

Options:

1. v ¥R

2 % SrelEEdr
3 i  FAgeen
A« SreEar

Question Number : 67 Question Id : 497959471 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Eugenics is the study of the agencies under social control that may improve or impair the racial qualities of future
generations either physically or mentally. Who is considered the father of this stream of study?
Options:

1. # Charles Darwin

? # David Baltimore

3. « Francis Galton

4. » Raymond Dart

Question Number : 67 Question Id : 497959471 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tehfaerw, At oaor & agg U TSfar 1 Hemas § S tasy @ At F Fwery o &
MREF T AaF T H GUR I7 BEMS FFar 71 HewTT H S URT F TS FE A ST 82

Options:



3 ¢ I e

Question Number : 68 Question Id : 497959472 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Name the economist who has been closely associated with the theory of monetarism.
Options:
1. «+» Milton Friedman

John Maynard Keynes

-2
#®

3. # Adam Smith

Joseph Stiglitz

e
%

Question Number : 68 Question Id : 497959472 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

39 7NN & FT A § S Jearer f8Ea (theory of monetarism) ® FIHT FE & 3T 22
Options:

1. v feea fsde



2« T AAS Feg

=

Question Number : 69 Question Id : 497959473 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Though Spanish is the most widely spoken language. this country is also home to languages such as Nahuatl, Yucatec
Maya and Mixtec. Which country is being referred to here?
Options:

1. v Mexico

? w Argentina

3. # DBolivia

4 % Chile

Question Number : 69 Question Id : 497959473 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

TaR@T § ¥ 37 ST @ 2 § 8T, I8 T 599 O9F T ¥ ST AT Jrel §18T g, offeheT
TgT T AETE, JFew AT AR Pawes Swlr Ame o g=ers 7 g7

Options:

1. » ®RiFEs

2 % AT



Question Number : 70 Question Id : 497959474 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘What is the colour that is prescribed for school buses in India?
Options:
1. # Blue

2 Red

&

3. % Green

4 « Yellow

Question Number : 70 Question Id : 497959474 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

IRT H THe g4 ¥ fov FEi@d # ¥ FiF @ T Fuiia G o 82
Options:

1. & &=r



4. » drem

Question Number : 71 Question Id : 497959475 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In which city of India is the Indian Diamond Institute (IDI) situated?
Options:
1. » Bangalore

? % Mumbai

3. « Surat

A = Vadodara

Question Number : 71 Question Id : 497959475 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

TRATT ERT FEA (D) 89T & BFE agw # g 7

Options:

3, v T

Question Number : 72 Question Id : 497959476 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25
Name the telescope that has recently created the live image of the black hole.

Options:
1. » Keck Observatory Telescope

2  Event Horizon Telescope

3 u Hubble Space Telescope

4. » Spitzer Space Telescope

Question Number : 72 Question Id : 497959476 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3W T &1 F1 A7 g 98 g & # o g (F50T FEn) F asg 55 (SifaT o) s4w 87

Options:

1. % eF Hlesaelr cformma

2, F9€ g fere

3 % gaol T o

4 x TR T ST

Question Number : 73 Question Id : 497959477 Question Type: MCQ Option Shuffling : Yes

Correct Marks: 1 Wrong Marks: 0.25

The Vypeen Izland is a bustling and densely populated island in the Arabian Sea very near the Indian coast. Near which
of these cities is Vypeen situated?

Options:



1. & Trivandrum

? « Kochi

3. % Calicut

4. » Mangalore

Question Number : 73 Question Id : 497959477 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

=T 239, IRF PR H 8RET I & U UF o9 3R gt HEEr arer & g 9 Feafetag
F ¥ T a & 9w e g7

Options:

1. » A

2. v ="

Question Number : 74 Question Id : 497959478 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25
The Warangal Fort. whose ormamental gate is now the official emblem of the Telangana state. was built by which of
these dynasties?
Options:
1. « Kakatiya Dynasty



? % Viyavanagara Dynasty

Rashtrakuta Dynasty

b

3.

/. % Chandela Dynasty

Question Number : 74 Question Id : 497959478 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TS e, TormeT I9TEdr AR 3 JoAT U=T FT AUE ydiF ¢, Aeaeag # ¥ g =89y
ST ATIT AT AT?
Options:

1. v AT JaY

2w FEaR gsEw

9 & USEEE TS

4. x TS TS

Question Number : 75 Question Id : 497959479 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of these combinations of countries adds up to form the Iberian Peninsula?
Options:
1. « Today's Spain & Portugal

2 Today's Uruguay and Argentina



3 x Today'sIraq and Syria

4. » Today's North and South Korea

Question Number : 75 Question Id : 497959479 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

FA@a 7 ¥ Fid ¥ 32 F1 T5g 9RId TIEAT 41 67

Options:

g S & T T eFemer

2 % HF & 3T AR FAET

9« S & T AR @i

A« S & 3l HIT AT HIRTT

Question Number : 76 Question Id : 497959480 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The place Broadway and its world-famous theatre shows are synonymous with which of these great cities?
Options:

1. & Paris

2 % Chicago

3. ¢ New York



4 % London

Question Number : 76 Question Id : 497959480 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

giza v =uF g 9fae PBver of &g A= BT &1 9Ty £2

Options:
1. = 9=
2 % e

Question Number : 77 Question Id : 497959481 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

One set of digits in the GST number is a direct replication of which of these identities of the GST holder?
Options:
1. # Aadhaar Card Number

? % Ration Card Number

3. ® Mobile Number

4 « PAN Card Number

Question Number : 77 Question Id : 497959481 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



GST TEIT & 3% F UF Ve, GST uRTF & F=afofa Fig & waa & v gouer IaFa 82

Options:

1. = T FIE AT

2. W A F1E AT

3.« HETSe FeT

4, v U FS AR

Question Number : 78 Question Id : 497959482 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

‘What is the name for the Spanish and Portuguese Parliaments? The name has been derived from their common medieval
history.

Options:
1. «+ Cortes

3. # ElPaso

4 = Caldera

Question Number : 78 Question Id : 497959482 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

mferer 3t g?—h‘l‘l?ﬂ' TS &1 T ATH 22 Ig J1F 395 JTH AT Ffogw ¥ o gl

Options:




2w T
3w Tl 9raEr

Question Number : 79 Question Id : 497959483 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The three laws - Boyle's Law, Charles Law and Gay-Lussac's Law - come in the realm of which of these studies in
physics?

Options:
1. » Study of atoms

? w Study oflight
3 x Study of radioactivity

4.  Study of gases

Question Number : 79 Question Id : 497959483 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

siae #1 oA, Ted & FoF AR At @ T - 77 d9 T Eitd § feeiRe B
ITAT F UL H W 87

Options:

1 = GTATULHT & TS



2 % T F FTIS

3.« IEEEATr & demna

A o A F T

Question Number : 80 Question Id : 497959484 Question Type: MCQ Option Shuffling : Yes

Correct Marks: 1 Wrong Marks: 0.25

The United Nations Conference on Trade and Development (UNCTAD) is a permanent intergovernmental body
established by the United Nations to deal with trade, investment and development issues. Where is it headquartered?

Options:
1. ®# New York

? % Paris

3. # Brussels

41  Geneva

Question Number : 80 Question Id : 497959484 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

TASCS AW FHE A 8 U5 S9av#e (UNCTAD) @R, faeer 3R Rew & 75 & F9es % e
HYF To¢ SART T T FARN R TSN T §1 SHA HEAT Fgl 8o 27?

Options:
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Question Number : 81 Question Id : 497959485 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the value of X in the following equation.

27.48—x
3.5x= 0.3

Options:



? w% 7.48

3 v 648

A = 3.68

Question Number : 81 Question Id : 497959485 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

o aT g & x &1 AT A9 ST

2?.48—.1::20
3.50x03
Options:
1. = 9.78
2 x 748
3. v 648
4. % 3.68

Question Number : 82 Question Id : 497959486 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If2.5%(3+5) —18+x =4, then the value of X is:
Options:
1. « 1.125



t.h.
®
—
IJ
L ]

Question Number : 82 Question Id : 497959486 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T 25 x (3+5) -18+x =4 g, a x & AF Faar gem?

Options:

T. « L1125
2. x 050
3. » 0388
4 x 125

Question Number : 83 Question Id : 497959487 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

The value of (0.3 X 0.3 -0.02) (0.2 X 0.2+ 0.01)" is equal to:

Options:



3. ¢ 140

A = 145

Question Number : 83 Question Id : 497959487 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

(0.3 x 0.3 — 0.02)(0.2 x 0.2+ 0.01)* Fr AT TF=A@T § T BFFF =T 2=m?

Options:

1. = 170
2. % 040
3. v 140
4. = 145

Question Number : 84 Question Id : 497959488 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Solve the following.

8 (2.65)7— 1] e
(5.3)%+6.3
Options:

1. = 64

LA

-2
®
L
Lad
LN



(%
€
Lad
L]
Ln

A « 430

Question Number : 84 Question Id : 497959488 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Frataf@a gHeT F7 g 1

[a (2.65)2 - 1] =9

(5.2)2+6.3
Options:

1. % 645
2 % 5.35
3 % 335
4., » 4.30

Question Number : 85 Question Id : 497959489 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Solve the following.

8.5
925 — —=—=7
1+ T
2+E§
Options:
1. = 2.50



(%
€
Lad
I
LA

t.[:.
®
Lad
o
LA

Question Number : 85 Question Id : 497959489 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Frataf@a gdeoT F7 g 1
9.25— ——— = ?

1L

z+

afs
Options:
1. = 250
2. v 275
3 = 325
4. = 3.65

Question Number : 86 Question Id : 497959490 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which one number would replace both the question marks in the following equation?

38 7

7 342

Options:
1. & 144



3 = 118

4 « 114

Question Number : 86 Question Id : 497959490 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

T gEeoT # 2 voF REal & T 9T &9 O & He HIT?

38 - 7
7 342
Options:

1. = 144
2 % 124
3 = 118
4., » 114

Question Number : 87 Question Id : 497959491 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the greatest four-digit number that will leave remainders 5, 6. 12 and 17, when divided by 8. 9, 15 and 20
respectively.
Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al

candidates.
Options:

1. 8723

7 9728



3. 9723

4. 9993

Question Number : 87 Question Id : 497959491 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

AT A T IR AR AT T AT O Fag 95 =T ¢ 59 8, 8, 15 3 20 & o 27 WY 5, 6,
12 3T 17 99w HTTET?

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.

Options:
1. 8723
2. 9728
3. 9723
4. 9993

Question Number : 88 Question Id : 497959492 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

The HCF t:afE,E,E and 2 is:
3°'5° 8 =]

Options:
1

1. « 360



Question Number : 88 Question Id : 497959492 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

=22 3R C &1 Ageas wAMESSH (HCF) fhaeTr grem?

3’'s5'sg

Options:

1. ¢ 360

Mo
g:-
4)]
=]

Question Number : 89 Question Id : 497959493 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the least number which when divided by 295, 403 and 547 will leave 7 as the remainder in each case.

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:

1. 18

2. 36



3. 48

4. 64

Question Number : 89 Question Id : 497959493 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

T=afaf@a 7 ¥ 58 Fi7 & =8 o g § 5 295, 403 3T 547 § 9797 & W & 9} 9GS 7
HITaT?

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.

Options:
1. 18
2 36
3. 48
4, 64

Question Number : 90 Question Id : 497959494 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Ifx: y = 5:3. find the value of jx+?y,
x— 5y
Options:
1=
1. =
21
? % 4



Question Number : 90 Question Id : 497959494 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

T xty = 5:3 g‘ra‘r:f*i FT 7T Brgar gem?

=

Options:

Question Number : 91 Question Id : 497959495 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1 1 1 18 . 2
If —: == — 1 — what is the value of x ?
4 X 2x 49
Options:
9 1
1.« 3



Question Number : 91 Question Id : 497959495 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

m?i:l:E 2 ar x F AE Saer gem?

X 2x
Options:
1
2=
1. ¢ 7
1

Question Number : 92 Question Id : 497959496 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

The containers A and B have mixtures of milk and water in the ratios of 3 : 5 and 7 : 9, respectively. If equal quantities
from both the containers are mixed to form a new mixture, what will be ratio of milk and water in the new mixture?

Options:



A & 13:19

Question Number : 92 Question Id : 497959496 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Feat A W B H FHA: 3 : 5 3R 7 : 9 F 3gaa # gu T uer F fFwwr g1 afy de wet F
RS0 # A AT F FRT T FAT THHOT AR AT ¢, A T FI0T F gy 3R 9 F e
feheteTr grem?

Options:

: T
2. % 58
3 & 131
4. « 13:19

Question Number : 93 Question Id : 497959497 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

An amount of T 1.268 is to be divided among A. B and C such that their shares when reduced by ¥ 7.3 12 and T17
respectively would be in the ratio of 2 : 5 : 7. What is B’s share?

Options:

1. » T181

7 @ T452



Question Number : 93 Question Id : 497959497 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

% 1,268 # TR F A, B 3R C & 9197 3o 50 e ¥ T S0 ¢, afds 3o BEAET & § FAM: T 7,
X 12 3T % 17 9 T 3a 301G 2 0 5 0 7 g6 38 RER F B 1 FA fhaelr URRY g gl

Options:

1 = 181
2. « %452
3 % %582
4 % %633

Question Number : 94 Question Id : 497959498 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

An aggregate of 36% of the total marks is required to pass an examination and 60% to get a first class. A student scored
298 marks and failed by 26 marks. How many marks should he have secured to get a first class?

Options:
1. = 560

2. 540

430

-
%



A % 420

Question Number : 94 Question Id : 497959498 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

UE TR H 3ol B o o7 Fe 36% 3 g Hierd § i gyA Aofr & e Ew * v 60%
3F HFTT 81 U oI F 298 3% Ug U 3T S8 26 FF ¥ e & Tam guH Avfr 7 I B
F forr 37 FFaa 375 9o &3 &1 F&g A7

Options:
1. % 560
2. v 540
3. % 480
4. % 420

Question Number : 95 Question Id : 497959499 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

If 30% of 25% sz of x = 105, what is the value of x ?

Options:
1. ¢ 1960

w

2 % 1880

i

3. % 1760

e

A % 1660



Question Number : 95 Question Id : 497959499 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

T x #2m25%m30%=105%,aﬁ'x FT T ThaaT grem?

Options:
1. « 1960
2. = 1880
3. = 1760
4 = 1660

Question Number : 96 Question Id : 497959500 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25
If the numerator of a fraction is decreased by 20% and the denominator is increased by 25%, the value of the fraction

4 . R .
becomes = . What is the original fraction?

Options:
25

1 « 28

15

30

3.8 a9

25

A =% a2

Question Number : 96 Question Id : 497959500 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



ﬁ%@mmﬁrzo%mm%mﬁzs%mm%,a‘rm@r—rrmrmg 2 =rar
g TefetEa 7 ¥ 7 BT A9 &1

Options:
25
1. ¢ 2=
is

Question Number : 97 Question Id : 497959501 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

The average weight of 12 girls is 6 kg less than the average weight of 18 boys. If the total weight of 12 girls is 276 kg,
what is the average weight of 12 girls and 18 boys taken together?

Options:
1. « 254kg
2 o 26.6kg

3. %

|
. |
b
£
1 =]

4 = 28.8kg

Question Number : 97 Question Id : 497959501 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

12 wsfonal &1 ftaa o=t 18 w5 & g a5 & 6 kg A ¢l TG 12 F=fFa = T 9519 276 kg
T ar 12 w=fFat AR 18 F==r &1 silga g9 BFaar g
Options:



1 % 254 kg

5 » 266 kg
4 @ 8%
4 % 288 kg

Question Number : 98 Question Id : 497959502 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
In an examination, the average marks of a student per paper were 72. If he would have secured 15 more marks in

Mathematics and 17 more marks in History. his average marks per paper would have been 75.2. How may papers were
there in the examination?
Options:

Question Number : 98 Question Id : 497959502 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

us 9iET &, UF OTF & 9ia U9 &7 AdEg FF 72 o7 I 36 a0 & 15 3k sfgw & 17 3k
3 grea BT @, @ 9 9 sEe e 3 75.2 g e # i feae auw 47

Options:



Question Number : 99 Question Id : 497959503 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The average score of a class in a test was 56. The average score of the brightest 25% students was 80 and the average
score of the dullest 35% students was 30. If the ratio of the boys and girls in the remaining 40% of students was 2:3 and
the average score of the boys in this remaining group was 60. what was approximately the average score of the girls in
the remaining 40%?

Options:
1. & 60.20

? % 62.40

3 v 6625

i

A = 68.75

Question Number : 99 Question Id : 497959503 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

U TFE H T FAT M AT TR 56 uT| Fidsmemel 26% O & A #R 80 oT iR A
Sfcmemelr 35% STl @ Ha T 30 o1l TfE AW 40% orEr A FEH AN asfFal F a2 0 3
o 3R 3F AV TAE A TS F HET THER 60 T, & AT 40% F wsfEA # wg =R e 9

Options:



1. = 60.20

2 = 6240
3. v 6625
4. = B68.75

Question Number : 100 Question Id : 497959504 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

A shopkeeper purchased 30 kg of wheat at T 30 per kg and mixed it with 40 kg of wheat which was purchased at ¥ 20
per kg. At what approximate rate should he sell the mixture to gain a profit of 10%?

Options:
1. & T24.15

7« T26.71

2

3. % 72826

i

4 % T31.25

Question Number : 100 Question Id : 497959504 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

U gHAER & X 30 9 kg F & F A WET R $H T 20 Wi kg F & F TS 0 40 kg F A
% oy fHamar] @ 10% & &8 9ed Fa F v 97 30 BT #Y A o w9 fr @ W

H=IT?

Options:

1. = 2415



2.« T 2671

3. » 2826

4. % T3125

Arithmetic Ability2

Group Number : 6
Group Id: 49795926
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
Isthis Group for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Arithmetic Ability2
Section Id : 49795926
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 49795930
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 497959505 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25
By selling 78 apples. a fruit seller gains the selling price of 18 apples. What is his gain percent?

Options:



1. ¢« 30%

Question Number : 101 Question Id : 497959505 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

78 ¥F S9HL, UF G okl 18 BE & ST Fod THaa o 9o AT g1 FHH o1 Giowd fhaar
22

Options:
1. ¢ 30%
2. = 25%
3. & 23.7%
4. = 333%

Question Number : 102 Question 1d : 497959506 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

By selling an article for T 1,744, a seller earns a profit of 20% more than the loss he would have incurred if he had sold
the article for T 1,480. What is the price of the article?

Options:
1. = 1,850



2 % 1,700

3 % T1,400

4. v T 1600

Question Number : 102 Question Id : 497959506 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T Trhar & T HTAE, # T 1,480 Fr X W =S ¥ S g 2, T 1,744 9T 99 9 3@ 39 @
#20%mwm§m|mmﬁﬁm%ﬁraﬁ?

Options:
1. = %1850
5 & ¥1,700
3« 1,400
4 » T 1,600

Question Number : 103 Question Id : 497959507 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

At simple interest, a certain sum of money amounts to T 1.488 in 2 vears and to T 1.776 in 4 vears. Find the sum.
Options:
1. = < 1.600

2w T 1450



3 » T1.200

A = T900

i

Question Number : 103 Question Id : 497959507 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HTROT ST O, 2 987 & U [ai9ag g=amr T 1,488 3t 4 auf & T 1,776 & =T &1 38 Uiy e

2?

Options:

1. » ¥1,600
2 % 1450
3.« 11,200
4. = % 900

Question Number : 104 Question 1d : 497959508 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A sum of ¥ 1,250 was lent out in two parts, one at 12% simple interest and another at 8% simple interest. If the total
sum after one year was < 1,382, find the amount lent out at 8% interest.

Options:
1. ¢ T450

2

2 % 650

3. % 700



i

A % T800

Question Number : 104 Question Id : 497959508 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3 1,250 & TR T ar AN F 3uR G T3 o, 12% FURT S W AR GEU 8% WURUT S
| A T I F qE F AT X 1,382 o1, A 8% TS W IUR & TS TR F I T

Options:
1. « ¥ 450
2 % % 650
3 % %700
A = %800

Question Number : 105 Question Id : 497959509 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The simple interest on a sum of money at 10% per annum for 2 years is ¥ 2.400. Compounded annually. what would be
the compound interest on the same sum for the same period at the same rate of interest?

Options:

Question Number : 105 Question Id : 497959509 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

2 Iut & T 9fy a¥ 10% #r X ¥ & ARe9d oefyr W Ammer sas 2 2,400 @i g as Said
S % & ¥ 3 TAW I W, TAS 330 F T, gaa 3 W gw3fE so= Faar gem?

Options:

1 T 2450
2 «» 2520
3 x T 2580
4 x %2620

Question Number : 106 Question 1d : 497959510 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A certain sum amounts to ¥ 1,320 after 2 years and to < 1,760 after 4 years on compound interest. What is the sum?
Options:
1. «+ T990

2 x T1.080

3 % T1120

4 = 1,200

Question Number : 106 Question Id : 497959510 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ve fAf¥aa UM, wrgfe e ax W 2 a9 &% a1 % 1,320 AR 4 =wi % &g X 1,760 @ AT g1 TE
Y e &2

Options:



1. ¢ %990

2« % 1,080
3 & 1359
4 % % 1,200

Question Number : 107 Question Id : 497959511 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The difference between the compound interest and simple interest on a certain sum of money at 10% interest per annum
for 2 years is ¥ 185. What is the sum?

Options:
1. % T37.000

2w T24,500

4. » T 18,500

Question Number : 107 Question Id : 497959511 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

2 Tuf & o v Afdag ofr @ 9 3§ 10% =0 X W TRgfe &0 3R Eemor & & @ #7
HaT X 185 71 af For T faraetr 2

Options:

1 % ¥ 37,000



2w T 24500

3 &« ¥ 22500

4 » % 18500

Question Number : 108 Question 1d : 497959512 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

A 50-cm-wide path is made around a circular garden having a diameter of 10 m. What is approximately the area of the
path?

Options:

1.

13.35 m?

b4

? « 16.50 m*

3 % 18.85m?

A % 3220m?

Question Number : 108 Question Id : 497959512 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

U& FedreR T foge 2rd 10 m g, 30 IRI 3R TF 50 cm ST TEA ST AT g1 W &
FT STFHT TTHT FhaaT B2

Options:

1. = 1335w

2 o 1650 m?



3. % 18.85 m?

4. = 3220 m?

Question Number : 109 Question Id : 497959513 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
The length of a rectangle is twice its breadth. If its length as well as breadth is increased by 5 cm, its area increases by

250 cm? , What is the length of the rectangle?
Options:
1. = 16cm

? % 24cm

3. « 30cm

Question Number : 109 Question Id : 497959513 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

UH HOT T FAS SHET ASS F AR g A ST wars A =g Sem @ & A g, & swe
B Her 250 cm? 98 AT &1 HTId #r oeTs fhaer 27

Options:
1. = 16 cm
2. % 24 cm

3. ¢ 30 cm



4 = 34 cm

Question Number : 110 Question Id : 497959514 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The circumference of the base of a right circular cylinder is 88 ecm and its curved surface area is 1320 cm? . What is its
volume?

Options:

1. % 6420 cm®
? % 7520 cm?®
3 % 8640 cm®

A. » 9240 cm®

Question Number : 110 Question 1d : 497959514 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

UF §F Jeoid SO % HR H IR 88 cm ¥ 3R $EHT THEER wag & &% 1320 cm? ¥
SHHT HTIA TehdaT EIeT?

Options:

1. = 6420 cm?

2 % 7520 cm?

3. % 8640 cm?

4. v 9240 em®



Question Number : 111 Question Id : 497959515 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

A man is twice as efficient as a boy. If 1 man and 1 boy can complete a piece of work in 12 days, how many days would
a man alone take to complete the same work?

Options:
1. = 16days
2 % 36days

3 x 24days

4. « 18days

Question Number : 111 Question Id : 497959515 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T HIGHT T Tk ¥ AT HE AT E| A 1 A AR 1 Fmwr 12 A F v FH [ W T
g, O Tk HEHr & Tg1 FH T F H ohaed (o worer?

Options:

1. = 16 &=

2 = 36 &e

3 x 24 f&

4. o 18 &=

Question Number : 112 Question Id : 497959516 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
4 men and 9 boys can complete a piece of work in 3 days. while 2 men and 6 boys can do the same work in 5§ days. How

many days would 8 men and 6 boys take to complete the same work?

Options:



1. = 3.5days

.5 days

o
<
b

3 x 2days

4. » 1.5days

Question Number : 112 Question Id : 497959516 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

4 7w A 9 5% 3 G F v FH W W FFS g, FaF I FH 2 [ow AN 6 7% 5 A 7 9@
FT T g1 3T FH P T F & 00 8 T AR 6 TZH F ohael oA T FHG FA?

Options:

1. » 3.5 fe=T

2 o 25f=A

3. » 2f=

4. = 15 %=

Question Number : 113 Question Id : 497959517 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A car covers the first 42 km of a journey in 40 minutes and the remaining 43 km in 60 minutes. What is the average
speed of the car?

Options:

1. & 47km/h



? % 48.5km/h

3.« 51km/

Question Number : 113 Question Id : 497959517 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

U FX Tger 42 km FT 70 F 40 BAe F 3R I 43 km Fr 7T 60 e F qff F F FR F
Frea ofg BT 2

Options:

1. = 47 km/h

2 % 485 km/h

3. v 51 kmh

4. %= 525 km/h

Question Number : 114 Question 1d : 497959518 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

A man takes 6 hours 30 minutes to walk from A to B and then drive back from B to A. He would have gained 2 hours if
he would have driven both ways. How long would the man take to walk both ways?

Options:

1. # 9 hours 30 minutes

? % 7 hours 45 minutes



3. % 8 hours 15 minutes

4.« 8 hours 30 minutes

Question Number : 114 Question Id : 497959518 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AYBdE Ia 3T B T A dF TS I & I8 H [ H TF JEHT &7 6 u¢ 30 e & 5T
ST g1 AE a7 AT TEAT BN Y IS TS H aF HIAT df 36 2 U FH FAT HA FAT| 3H IHEHT
F AT TEAT T TolT H FhaaT IHT FEE?

Options:

1. = 9 e 30 fAee

2 & 7 9¢ 45 AT

3 x 8ue 15 fAae

4. » 8 T 30 fA=e

Question Number : 115 Question Id : 497959519 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A cyclist covers the four sides of a square field at speeds of 10, 15, 20 and 25 km per hour. What is approximately the
average speed of the cyclist around the field?

Options:
1. « 15.58km/

? # 17.50 km/h

2

3. % 13.84kmh



4 % 19.55 km/h

Question Number : 115 Question Id : 497959519 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T TSR ITeleh J9ehR Hete & IRT fhary &1 10, 15, 20 3K 25 km 9fa o¢ & aifg & =F==m1
AT &1 HET F AR MR TR A9 H "isfehe arees @ 3itEg afy aer g

Options:

1. ¢ 1558 km/h

2 % 17.50 km/h

3. % 13.84 km/h

4. % 19.55 kmh

Question Number : 116 Question Id : 497959520 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The following table shows the total number of students studying in various colleges over six years. Study the table and
answer the question that follows.

Year Collere
A B C D

2013 323 410 210 320
2014 170 380 260 340
2013 420 440 30 410
2016 360 260 250 260
2017 75 350 340 360
2018 350 360 230 310

What is the ratio of the total number of students studying in College C to that in D over the six vears?

Options:



Question Number : 116 Question Id : 497959520 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Feaofea arfoe o8 st § RBf¥es Fioet 7 T JTer OET H ol HEAT HI GATAT g1 $F AR &
3T FY HR A BT 7T woT & 3ea7 &

o Flel

A B C D
2013 325 410 210 320
2014 270 380 260 340
2015 420 440 310 410
2016 360 260 250 260
2017 275 350 340 360
2018 350 360 230 310

oE I H Horstt C AR D & 9ga I o T F BEAN F GG el §7

Options:

T o® 253
< R R
3. o 455
4. = 5:86

Question Number : 117 Question Id : 497959521 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The following table shows the total number of students studying in various colleges over six years. Study the table and

answer the question that follows.

S College
A B C D

2013 325 410 210 320
2014 270 380 260 340
2015 430 440 310 410
2016 360 260 230 260
2017 275 330 340 360
2018 350 360 230 310

If the ratio of the boys to the girls studying in College B over the given years is 2 : 3 and that in College D is 3 : 2. what
is the ratio of the number of boys in College B to the number of girls in College D?

Options:

1. = 33:20
2. w 10:11
3 ¢ 11:10
4 w 17:15

Question Number : 117 Question Id : 497959521 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TAta @ afeeT o Iuf # Bffe Fo=r § 924 q|ﬁ@ﬁﬁ§ﬁ@ﬁﬁﬁﬁf%l$ﬁaﬁﬂﬂ
eI #1399 o o veA &7 3547 &)

o Flol=t

A B C D
2013 325 410 210 320
2014 270 380 260 340
2015 420 440 310 410
2016 360 260 250 260
2017 275 350 340 360
2018 350 360 230 310

IfE T 710 avf & Flost B 7 oo ATol F5H T HEAT F Asihdl Bl HEA ¥ 3Ad 2 1 3 § AR
Hioret D #T 39 3 1 2 §, A Foiel B H TSP T HEAT & Hlort D H Fsfonal Fr TET 8 A9
ELGIR-

Options:



1. % 3320

5 & 10211
3 @ 11210
A ® T8

Question Number : 118 Question Id : 497959522 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
The following pie chart shows the percentage distribution of a total of 400 employees in different departments of a
company. The table shows the ratio of male to female employees in different departments. Study the chart and the table
and answer the question that follows.

% of Employees in Different Departments Male :
Departments Female

HA HR 35

IT 243

Accounts 37

Marketing 74

Production 53

‘What is the total number of female employees in the Marketing department?
Options:

1. «» 32

? % 36

3. % 45



4 = 356

Question Number : 118 Question Id : 497959522 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frafle o8 o ve S & i Reami & $ 400 FH=ET & gfoed R @ gafer 2
aiforer Rf¥es e & 939 FARAr &1 Afgen FHAGT F HIS H AT gl qe AT arforer w5
3T L 3T S BT 5w 9 & 3% &

affte fasma 7 R faomr | o
FHAET T %
HR 35
T 23
Accounts 37
Accouns| Marketing 74
w [ ﬁﬂj Production 53

Arenieer fsmer 7 Afger FA=RE # F FEa e 22

Options:

1. ¢ 32
2. % 36
3 = 45
4 = 56

Question Number : 119 Question Id : 497959523 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The following pie chart shows the percentage distribution of a total of 400 employees in different departments of a
company. The table shows the ratio of male to female employees in different departments. Study the chart and the table
and answer the question that follows.

% of Employees in Different Departments Male :
Departments Female
HR 35
IT 28
Accounts 3:7
Marketing Marketing 7:4
;:,_[-.,_-;-‘" Production 5:3

‘What is the ratio of the number of female employees to the male employees in the IT and Marketing departments taken
together?

Options:

1. = 7:15
? « 17:20
3% 17:19
g4 w 1317

Question Number : 119 Question Id : 497959523 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Teafoed 915 W€ UF H & (Ao e # o 400 FHATE & wiawd @ @ g2 g
e e famet & v wH=Rat & Afger FEieEt @ s # g §) e dy a7
HeTTA FL AT AT BT 71T 927 FT 3ea% &)

affie=t fawmel # @i oo | ow
FAETLAT FT %
HR 35
T 3
Accounts 57
Marketing 74
Production 5:3

=

3MSEr 3R AR el # Afgem FARGT S FEA F Y FHANAT F IJFA e g2



Options:

1. » 7:15
2 ¢ 17:20
3. % 17:19
A & 13217

Question Number : 120 Question Id : 497959524 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

The following pie chart shows the percentage distribution of a total of 400 employees in different departments of a
company. The table shows the ratio of male to female employees in different departments. Study the chart and the table
and answer the question that follows.

% of Employees in Different Departments Male :
Departments Female

HR 35

T 2:3

Accounts 37

Marketing 74

Production 5:3

If 40% of the male employees and 60% of the female employees in each department are executives, what is the ratio of
male non-execufives to female non-executives in the Accounts department?

Options:
1. » 4:7
2. w Tl

3. % 9:11



]« 9:14

Question Number : 120 Question Id : 497959524 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frrfaf@a 1% 91 % S5 % affes Fet & $a 400 FAafaEr & gfoua e #F g ¢
o Rfees Reml & 9 Faamal @ Afgen FAA § JFAd F SR g1 A AT difor @
FegTF FL AT AT BT 710 727 &7 37T 2

afftest fawma & FEvd oo | gow =i
FHHATAT T %
HR 35
T 23
Accounts 37
Marketing 74
Production L

IR Tede 3T F IfE 40% T FAAR AR 60% AT FAAN! FEFR HeET &, al THBE [T
H R I-FEFY Terd F Al A-FEFS FexT ¥ I e g2

Options:
T. & &7
2. 7: %
3 x 9:11
4. v 9: 14
General English1
Group Number : 7
Group Id: 49795927

Group Maximum Duration : 0



Group Minimum Duration : 0

Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
IsthisGroup for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

General Englishil

Section Id : 49795927
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Sub-Section Number : 1
Sub-Section I1d: 49795931
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 497959525 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Parts of the following sentence are given as options. Identify the part that has an error.

Organic farming strikes a healthy balance across the traditional and modern knowledge.
Options:
1. % Organic farming strikes

? w ahealthy balance

3 & across the traditional

4. » andmodern knowledge

Question Number : 121 Question Id : 497959525 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Parts of the following sentence are given as options. Identify the part that has an error.

Organic farming strikes a healthy balance across the traditional and modern knowledge.
Options:

1. % Organic farming strikes

2  ahealthy balance

3_ « across the traditional

4. % and modem knowledge

Question Number : 122 Question Id : 497959526 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Parts of the following sentence are given as options. Identify the part that has an error.

The frequent occurrence of torrential rains and floods make disaster management very important.
Options:
1. » The frequent occurrence

? # of torrential rains and floods

3 . make disaster management

4. % veryimportant

Question Number : 122 Question Id : 497959526 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Parts of the following sentence are given as options. Identify the part that has an error.

The frequent occurrence of torrential rains and floods make disaster management very important.
Options:

1. & The frequent occurrence

7w of torrential rains and floods

3. » make disaster management

/.« Vveryimportant

Question Number : 123 Question Id : 497959527 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
Select the alternative that will improve the underlined part of the sentence. In case no improvement is needed, select No

improvement'.
No sooner did she leave the house when the burglar broke in.

Options:
1. w left the house when the burglar broke in

2 . leave the house than the burglar broke in

3 % left the house but the burglar broke in

4. » Noimprovement

Question Number : 123 Question Id : 497959527 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the alternative that will improve the underlined part of the sentence. In case no improvement is needed, select No

improvement'.

No sooner did she leave the house when the burglar broke in.
Options:

1. & left the house when the burglar broke in

2  leave the house than the burglar broke in

3w left the house but the burglar broke in

4. = Noimprovement

Question Number : 124 Question Id : 497959528 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
Select the alternative that will improve the underlined part of the sentence. In case no improvement is needed, select Wo

improvement'.

Activists have criticised the forest department for failure to forming the Aravalli protection task force.

Options:
1. » infailing to form the

2 forfailing to form the

3 % tofailin forming the

4. » Noimprovement

Question Number : 124 Question Id : 497959528 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the alternative that will improve the underlined part of the sentence. In case no improvement is needed, select No

improvement'.

Activists have criticised the forest department for failure to forming the Aravalli protection task force.
Options:

1. « nfailing to form the

2  forfailing to form the

3. % tofailin forming the

4. % Noimprovement

Question Number : 125 Question Id : 497959529 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that expresses the given sentence in active voice.

A special edition of this magazine will be brought out early next year.
Options:
1. « They will bring out a special edition of this magazine early next year.

? w They are bringing out a special edition of this magazine early next year.

3 x They brought out a special edition of this magazine early next year.

4. » They will bring out a special edition of that magazine early next year.

Question Number : 125 Question Id : 497959529 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the option that expresses the given sentence in active voice.

A special edition of this magazine will be brought out early next year.
Options:

1. « They will bring out a special edition of this magazine early next year.

2 They are bringing out a special edition of this magazine early next year.

3.« They brought out a special edition of this magazine early next year.

/.« They will bring out a special edition of that magazine early next year.

Question Number : 126 Question Id : 497959530 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that expresses the given sentence in active voice.

Sweets were being distributed among the staff on the occasion of Diwali.
Options:
1. » They distributed sweets among the staff on the occasion of Diwali.

? . They were distributing sweets among the staff on the occasion of Diwali.

3 They are distributing sweets among the staff on the occasion of Diwali.

4. » They will be distributing sweets among the staff on the occasion of Diwali.

Question Number : 126 Question Id : 497959530 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the option that expresses the given sentence in active voice.

Sweets were being distributed among the staff on the occasion of Diwali.
Options:

1. & They distributed sweets among the staff on the occasion of Diwali.

2 They were distributing sweets among the staff on the occasion of Diwali.

3. % They are distributing sweets among the staff on the occasion of Diwali.

A, % They will be distributing sweets among the staff on the occasion of Diwali.

Question Number : 127 Question Id : 497959531 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that expresses the given sentence in passive voice.

She has submitted all the required documents on time.
Options:
1. » Allthe required documents has been submitted on time.

? w Allthe required documents were submitted on time.

3  Allthe required documents have been submitted on time.

/. » The submission of all the required documents was done on time.

Question Number : 127 Question Id : 497959531 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the option that expresses the given sentence in passive voice.

She has submitted all the required documents on time.
Options:

1. & Allthe required documents has been submitted on time.

2  All the required documents were submitted on time.

3. Allthe required documents have been submitted on time.

4. « Thesubmission of all the required documents was done on time.

Question Number : 128 Question Id : 497959532 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that expresses the given sentence in passive voice.

Water the plants regularly lest they die.
Options:
1. % The plants should be watered regularly lest they die.

2 w The plants be watered regularly lest they die.

3 Letthe plants to be watered regularly lest they die.

4. » Letthe plants be watered regularly lest they die.

Question Number : 128 Question Id : 497959532 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the option that expresses the given sentence in passive voice.

Water the plants regularly lest they die.
Options:

1. « The plants should be watered regularly lest they die.

2 % Theplants be watered regularly lest they die.

3. Letthe plants to be watered regularly lest they die.

/.  Letthe plants be watered regularly lest they die.

Question Number : 129 Question Id : 497959533 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate preposition to fill in the blank.

The murderer was condemned life imprisonment.

Options:

1. & of

? % by

3.v o0

4 = for

Question Number : 129 Question Id : 497959533 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate preposition to fill in the blank.

The murderer was condemned life imprisonment.
Options:

T. & @f

2 x by

3_ v 0

4 = for

Question Number : 130 Question Id : 497959534 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate preposition to fill in the blank.

Please ponder the problem carefully to find a solution.
Options:

1. &« over

? % with

3  through

4 = at

Question Number : 130 Question Id : 497959534 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate preposition to fill in the blank.
Please ponder the problem carefully to find a solution.

Options:

1. « over

2. = with

3. % through

[y

Question Number : 131 Question Id : 497959535 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate conjunction to fill in the blank.

He 1s himself not too well off; . he never disappoints friends in need.
Options:
1. = although

? « nevertheless

3 % and

4. = otherwise

Question Number : 131 Question Id : 497959535 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate conjunction to fill in the blank.

He 1is himself not too well off: . he never disappoints friends in need.
Options:
1. « although

7« nevertheless

3 % and

4. = otherwise

Question Number : 132 Question Id : 497959536 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate conjunction to fill in the blank.

She cannot hope for a promotion her performance improves drastically.
Options:
1. = lest

? w if

3' % Yﬂt

4, « until

Question Number : 132 Question Id : 497959536 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate conjunction to fill in the blank.

She cannot hope for a promotion her performance improves drastically.
Options:
1. = lest
I
3. = Yet
4. « umtil

Question Number : 133 Question Id : 497959537 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that expresses the given sentence in direct speech.

Aanya told me that my painting would win me the first prize.
Options:
1. » Aanyasaid to me, "My painting will win me the first prize."

? . Aanyasaid to me, "Your painting will win you the first prize."

3 x Aanya said to me, "Your painting would win the first prize."

4. » Aanyatold to me, "My painting will win me the first prize."

Question Number : 133 Question Id : 497959537 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the option that expresses the given sentence in direct speech.

Aanya told me that my painting would win me the first prize.
Options:

1. « Aanya said to me, "My painting will win me the first prize."

2 » Aanya said to me, "Your painting will win you the first prize."

3. % Aanya said to me, "Your painting would win the first prize."

/. % Aanyatold to me, "My painting will win me the first prize."

Question Number : 134 Question Id : 497959538 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that expresses the given sentence in direct speech.

Mr Das exclaimed joyfully that his daughter had won the table tennis championship.
Options:
1. « Mr Das said. "Hurrah! My daughter has won the table tennis championship.”

? % MrDas said. "Oh! My daughter wins the table tennis championship."

3 % MrDas said. "What! My daughter has won the table tennis championship?”

4. » MrDas said, "Alas! His daughter has won the table tennis championship."

Question Number : 134 Question Id : 497959538 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the option that expresses the given sentence in direct speech.

Mr Das exclaimed joyfully that his daughter had won the table tennis championship.
Options:
1. « MrDas said. "Hurrah! My daughter has won the table tennis championship."

2 % MrDas said, "Oh! My daughter wins the table tennis championship."

3. % MrDas said. "What! My daughter has won the table tennis championship?”

/. % MrDassaid, "Alas! His daughter has won the table tennis championship."

Question Number : 135 Question Id : 497959539 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that expresses the given sentence in reported speech.

You said. "I checked all my drawers but couldn't find the car keys."
Options:
1. % You said that you checked all your drawers but couldn't find the car keys.

? . Yousaid that you had checked all your drawers but couldn't find the car keys.

3 Yousaid that I checked all my drawers but couldn't find the car keys.

4. » You said that you checked all my drawers but couldn't find the car keys.

Question Number : 135 Question Id : 497959539 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the option that expresses the given sentence in reported speech.

You said. "I checked all my drawers but couldn't find the car keys."
Options:

1. « Yousaid that you checked all your drawers but couldn't find the car keys.

2 . You said that you had checked all your drawers but couldn't find the car keys.

3. % Yousaid that I checked all my drawers but couldn't find the car keys.

/. % Yousaid that you checked all my drawers but couldn't find the car keys.

Question Number : 136 Question Id : 497959540 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that expresses the given sentence in reported speech.

The policeman said to the suspect. "Where were you at this time yesterday?"
Options:
1. » The policeman asked the suspect that where he was at this time yesterday.

? w The policeman asked the suspect where was he at that time yesterday.

3 . The policeman asked the suspect where he was at that time the previous day.

4. » The policeman asked the suspect where was he at this time the previous day.

Question Number : 136 Question Id : 497959540 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the option that expresses the given sentence in reported speech.

The policeman said to the suspect. "Where were you at this time yesterday?"
Options:

1. ® The policeman asked the suspect that where he was at this time yesterday.

2 % The policeman asked the suspect where was he at that time yesterday.

3. . Thepoliceman asked the suspect where he was at that time the previous day.

/. % Thepoliceman asked the suspect where was he at this time the previous day.

Question Number : 137 Question Id : 497959541 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate synonym of the given word.

CURTAIL
Options:

1. = Abort

? w Abstain

3 » Expand

4 « Shorten

Question Number : 137 Question Id : 497959541 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate synonym of the given word.

CURTAIL
Options:
1. = Abort

. % Abstain

3. « Expand

4. « Shorten

Question Number : 138 Question 1d : 497959542 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate synonym of the given word.

APPATLING
Options:

1. & Attractive

2 o Terrifying

Charming

-
%

A = Ridiculous

Question Number : 138 Question 1d : 497959542 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate synonym of the given word.

APPALLING
Options:

1. = Aftractive

2 » Terifying

3. % Charming

4. = Ridiculous

Question Number : 139 Question 1d : 497959543 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate synonym of the given word.

VENERABLE
Options:
1. « Respectable

2 Contagious

3.« Forceful

4 = Miserable

Question Number : 139 Question 1d : 497959543 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate synonym of the given word.

VENERABLE
Options:

1. «» Respectable

2  Contagious

3. « Forceful

4. = Miserable

Question Number : 140 Question 1d : 497959544 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate ANTONYM of the given word.

FICKLE
Options:

1. & Gentle

? % Fresh

3.« Constant

A = Wicked

Question Number : 140 Question Id : 497959544 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate ANTONYM of the given word.

FICKLE
Options:
1. % Gentle
. % Fresh

3. « Constant

4. = Wicked
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Sub-Section Id: 49795932
Question Shuffling Allowed : Yes

Question Number : 141 Question Id : 497959545 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate ANTONYM of the given word.

SURPLUS
Options:

1. ® Decrease

? % Sufficient

3. # Abundant

4.« Deficit

Question Number : 141 Question Id : 497959545 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate ANTONYM of the given word.

SURPLUS
Options:

1. = Decrease

7 % Sufficient

3. % Abundant

4. Deficit



Question Number : 142 Question 1d : 497959546 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate ANTONYM of the given word.

TRANSPARENT
Options:

1. # Lucid

? « Opaque

3. # Translucent

4 % Clear

Question Number : 142 Question 1d : 497959546 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate ANTONYM of the given word.

TRANSPARENT
Options:
1. = Lucid

o S Opaque

3 % Translucent

4. % Clear

Question Number : 143 Question Id : 497959547 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate meaning of the following idiom.

Make much ado about nothing
Options:
1. % To treat as unimportant

? w To getrid of something

3 Make a great fuss about a trifle

4 % Make a confession

Question Number : 143 Question Id : 497959547 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate meaning of the following idiom.

Make much ado about nothing
Options:

1. % Totreat as unimportant

2 « To getrid of something

D o Make a great fuss about a trifle

4. w Make a confession

Question Number : 144 Question 1d : 497959548 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate meaning of the following idiom.

Order of the day
Options:
1. = A state of uncertainty

? % Animpossible situation

3 x Sentence passed by a judge

4. » Condition prevailing at the time

Question Number : 144 Question Id : 497959548 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate meaning of the following idiom.

Order of the day
Options:

1. = A state of uncertainty

2 & Animpossible situation

3. Sentence passed by a judge

/.  Condition prevailing at the time

Question Number : 145 Question Id : 497959549 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate meaning of the following idiom.

Pull the strings
Options:
1. « To manipulate

? w Toreduce speed

3 u Tobevery frank

4] % Tobe frank

Question Number : 145 Question Id : 497959549 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate meaning of the following idiom.

Pull the strings
Options:

1. » Tomanipulate

2 x Toreduce speed

3.« Tobevery frank

4. = Tobe frank

Question Number : 146 Question Id : 497959550 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the option that can be used as a one-word substitute for the given group of words.

To preserve from extinction
Options:
1. & Perturb

? % Persuade

3 v Perpetuate

4. » Perplex

Question Number : 146 Question Id : 497959550 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that can be used as a one-word substitute for the given group of words.

To preserve from extinction

Options:

1. % Perturb

7 % Persuade

3.  Perpetuate

4. = Perplex

Question Number : 147 Question Id : 497959551 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the option that can be used as a one-word substitute for the given group of words.

One who hates mankind
Options:
1. » Misogynist

? . Misanthrope

3. ®& Misnomer

4 % Malevolent

Question Number : 147 Question Id : 497959551 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that can be used as a one-word substitute for the given group of words.

One who hates mankind
Options:

1. = Misogynist

2 Misanthrope

3. % Misnomer

4. = Malevolent

Question Number : 148 Question 1d : 497959552 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the option that can be used as a one-word substitute for the given group of words.

One who eats too much
Options:
1. » Greedy

9w Hungry

3. ® Ravenous

4 « Glutton

Question Number : 148 Question Id : 497959552 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that can be used as a one-word substitute for the given group of words.

One who eats too much
Options:

1. = Greedy

2, » Hungy

3. % Ravenous

4. Glutton

Question Number : 149 Question 1d : 497959553 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the correctly spelt word.

Options:



1. & Continous

? « Continuous

3. # Continouse

4 = Cuntinuous

Question Number : 149 Question Id : 497959553 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the correctly spelt word.

Options:

1. = Continous

7 « Continuous

3. % Continouse

4. = Cuntinuous

Question Number : 150 Question Id : 497959554 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the correctly spelt word.
Options:
1. « Negligence

2 % Neglegence



3 x Negligense

4. » Negligance

Question Number : 150 Question Id : 497959554 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the correctly spelt word.
Options:

1. « Negligence

2 % Neglegence

3.« Negligense

4. % Negligance

Question Number : 151 Question Id : 497959555 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate phrase to fill in the blank.

The doctor said there was nothing serious and the patient would SO001N.
Options:
1. % comeupon

7 x comeup

3. ® come over



4 « come round

Question Number : 151 Question Id : 497959555 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate phrase to fill in the blank.
The doctor said there was nothing serious and the patient would SO01.

Options:

1. % come upon

2 x comeup

3. % come over

4. « come round

Question Number : 152 Question Id : 497959556 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate phrase to fill in the blank.

The mechanic repairing the machine immediately.
Options:
1. % setoff

? % seton

3 & setup



4 setabout

Question Number : 152 Question Id : 497959556 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate phrase to fill in the blank.

The mechanic repairing the machine immediately.

Options:

1. = setoff

? % seton

3« setup

4. « setabout

Question Number : 153 Question Id : 497959557 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the grammatically correct sentence from the given options.
Options:
1. « Household duties prompted her to take a break from work.

? w Household duties prompted to take a break from her work.

3 Her household duties prompted to take a break from work.

4. » A break from work prompted to take her household duties.



Question Number : 153 Question Id : 497959557 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the grammatically correct sentence from the given options.
Options:

1. » Household duties prompted her to take a break from work.

2 Household duties prompted to take a break from her work.

3.  Herhousehold duties prompted to take a break from work.

/4.« Abreak from work prompted to take her household duties.

Question Number : 154 Question Id : 497959558 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the grammatically correct sentence from the given options.
Options:
1. » Either you or Sourabh are to blame for this financial loss.

2 . Either you or Sourabh is to blame for this financial loss.

3. ® You or Sourabh are either to blame for this financial loss.

/. » Either Sourabh or you is to blame for this financial loss.

Question Number : 154 Question 1d : 497959558 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the grammatically correct sentence from the given options.

Options:



1. « Either you or Sourabh are to blame for this financial loss.

2 Either you or Sourabh is to blame for this financial loss.

3. % Youor Sourabh are either to blame for this financial loss.

/. « Either Sourabh or you is to blame for this financial loss.

Question Number : 155 Question Id : 497959559 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the grammatically correct sentence from the given options.
Options:
1. » Passengers are requested to be remaining seated.

?  Passengers are requested to be remained seated.

3 . Passengers are requested to remain seated.

/. » Passengers requested fo remained seated.

Question Number : 155 Question 1d : 497959559 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the grammatically correct sentence from the given options.
Options:

1. =« Passengers are requested to be remaining seated.



72 x Passengers are requested to be remained seated.

3.  Passengers are requested to remain seated.

/.« Passengers requested to remained seated.

Sub-Section Number: 2
Sub-Section 1d: 49795933
Question Shuffling Allowed : Yes

Question Id : 497959560 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (156 to 160)

Question Label : Comprehension



The special relationship between the client and the therapist is known
as a therapeutic relationship or alliance. It is neither a passing
acquaintance. nor a permanent relationship. The two major
components of this alliance are the contractual nature and the limited
duration of the therapy. The client and the therapist willingly enter
into an alliance with the purpose of helping the client overcome their
problems. The alliance lasts fill the client is able to deal with the
problems and take control of their life. It 1s a relationship based on
mutual trust and confidence. A high level of trust is essential to enable
the client to vent out their feelings openly and unburden themselves
by confiding about their psychological and personal problems to the
therapist. The therapist encourages this by being empathetic. genuine.
warm and understanding. The therapist ensures the client that they
would not be judging them and would continue to have positive
feelings towards them even if the client is rude or shares deeds or
thoughts that may be "wrong'. This is the unconditional positive regard
that the therapist has for the client.

It is very important that the therapist should have empathy for the
client and not sympathy or an intellectual understanding of the other
person's sifuation. In case of sympathy. the person feels pity for the
other's suffering but cannot feel like the other person. Intellectual
understanding is cold and rational and does not evoke feelings of
either compassion or empathy. On the other hand. empathy makes one
understand the plight of another and see oneself in the other's shoes.
It enables one to see things from the other's perspective. Thus.
empathy enriches the therapeutic relationship and transforms if into a
healing relationship.

The therapeutic relationship also requires that the therapist maintains
strict confidentiality of the feelings. thoughts. actions and experiences
disclosed by the client. The therapist must not betray the trust of the
client or exploit them in any way. It is a professional relationship. and
must remain so.

Sub questions

Question Number : 156 Question Id : 497959561 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Why is the client-therapist relationship contractual in
nature?

Options:

1. = Itislegally binding on both parties.

2 Itisawilling alliance with a common motive.



3. = It is based on mutual trust and is irrevocable.

4. » Itistemporary and arises out of compassion.

Question Number : 157 Question Id : 497959562 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘What are the two key ingredients of a therapeutic
relationship?

Options:
1. » Trustand intellectual understanding

? % Confidence and mutual interest

3 x Empathy and sound advice

4. » Twstand confidentiality

Question Number : 158 Question Id : 497959563 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What attitude of the therapist could be detrimental to the
therapeutic relationship?

Options:
1. » Being empathetic

? w DBeing professional

3 . Being judgemental

/. » Being discreet



Question Number : 159 Question 1d : 497959564 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of these phrases best describes empathy?
Options:
1. » Taking pity on others

? . Putting oneself in other’s shoes

3 Feeling sorry for other's misfortune

4. » Venting pent up emotions

Question Number : 160 Question Id : 497959565 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following statements is NOT true?
Options:
1. » A good therapist wins the confidence of the client.

2 w A therapist encourages the client to overcome all problems.

3 A good therapeutic alliance is an eternal bond.

/. » A therapist plays the role of a healer.

Question Id : 497959560 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (156 to 160)

Question Label : Comprehension



The special relationship between the client and the therapist is known
as a therapeutic relationship or alliance. It is neither a passing
acquaintance. nor a permanent relationship. The two major
components of this alliance are the contractual nature and the limited
duration of the therapy. The client and the therapist willingly enter
into an alliance with the purpose of helping the client overcome their
problems. The alliance lasts fill the client is able to deal with the
problems and take control of their life. It 1s a relationship based on
mutual trust and confidence. A high level of trust is essential to enable
the client to vent out their feelings openly and unburden themselves
by confiding about their psychological and personal problems to the
therapist. The therapist encourages this by being empathetic. genuine.
warm and understanding. The therapist ensures the client that they
would not be judging them and would continue to have positive
feelings towards them even if the client is rude or shares deeds or
thoughts that may be "wrong'. This is the unconditional positive regard
that the therapist has for the client.

It is very important that the therapist should have empathy for the
client and not sympathy or an intellectual understanding of the other
person's sifuation. In case of sympathy. the person feels pity for the
other's suffering but cannot feel like the other person. Intellectual
understanding is cold and rational and does not evoke feelings of
either compassion or empathy. On the other hand. empathy makes one
understand the plight of another and see oneself in the other's shoes.
It enables one to see things from the other's perspective. Thus.
empathy enriches the therapeutic relationship and transforms if into a
healing relationship.

The therapeutic relationship also requires that the therapist maintains
strict confidentiality of the feelings. thoughts. actions and experiences
disclosed by the client. The therapist must not betray the trust of the
client or exploit them in any way. It is a professional relationship. and
must remain so.

Sub questions

Question Number : 156 Question Id : 497959561 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Why is the client-therapist relationship contractual in
nature?
Options:

1. & Itislegally binding on both parties.



2 » Itisawilling alliance with a common motive.

3.« It is based on mutual trust and is irrevocable.

/.« Itistemporary and arises out of compassion.

Question Number : 157 Question 1d : 497959562 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What are the two key ingredients of a therapeutic
relationship?

Options:

1. & Trustand intellectual understanding

7w Confidence and mutual interest

3. % Empathy and sound advice

/.  Trustand confidentiality

Question Number : 158 Question 1d : 497959563 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What attitude of the therapist could be detrimental to the
therapeutic relationship?

Options:

1. « DBeing empathetic



2 x Being professional

3. Beingjudgemental

/.« Being discreet

Question Number : 159 Question 1d : 497959564 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of these phrases best describes empathy?
Options:
1. « Taking pity on others

2  Putting oneself in other’s shoes

3.« Feeling sorry for other's misfortune

/. « Venting pent up emotions

Question Number : 160 Question Id : 497959565 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following statements is NOT true?
Options:

1. % A good therapist wins the confidence of the client.

2 « Atherapist encourages the client to overcome all problems.



3. » A good therapeutic alliance is an eternal bond.

/.« Atherapist plays the role of a healer.
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Question Number : 161 Question Id : 497959567 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘Forer & JY BT &

Options:
1.« 5@

9. # 3%

4 % 3cHE

Question Number : 162 Question 1d : 497959568 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ST H IUGTH FT HART g

Options:



Question Number : 163 Question Id : 497959569 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘TeTeT T HY &

Options:
1. » <

Question Number : 164 Question Id : 497959570 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ST H GG HHA-Tollar T 37T g

Options:



4 IHIAT

Question Number : 165 Question Id : 497959571 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T # oA g
Options:

2. % 3OAETA
3.« AT

4. % T
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Question Number : 161 Question Id : 497959567 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘FoAer F HY I L
Options:
1, & 9

Question Number : 162 Question 1d : 497959568 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TETTA H IUGTH FT HART g

Options:

1. = ST
2. » EH
3. v el
4, = \FAE

Question Number : 163 Question 1d : 497959569 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘TegeT T JY &

Options:



2. w HIOSC
3 o« WA
4, « FRew

Question Number : 164 Question Id : 497959570 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ST H Tgod FAH-Tollar § ITRT &

Options:

Question Number : 165 Question 1d : 497959571 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fqfa & 7T &

Options:



3. v wRE
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Question Shuffling Allowed : Yes

Question Number : 166 Question Id : 497959572 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

G- g g o i o - i

Options:
1. & &I

Question Number : 166 Question Id : 497959572 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T & @ 7 o1 e agT 2

Options:



2. w CHA
3. v U=
4 « A

Question Number : 167 Question Id : 497959573 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e & ¥ 7 TT A= 9ET A6 27

Options:

1¢.>EF

2. v Q9F

3.% T

AL@W

Question Number : 167 Question Id : 497959573 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e § & FIF T e d=T A8 27

Options:

1. = &



Question Number : 168 Question 1d : 497959574 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T # O FiF I e ac@7 272

Options:

1. » T&T

Question Number : 168 Question Id : 497959574 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T 7 ¥ =19 Ir oe 987 &7

Options:

1. v i



Question Number : 169 Question Id : 497959575 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

o/ § ¥ #i9 I e acgH gl g7

Options:

4.0 T

Question Number : 169 Question Id : 497959575 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

o/ § ¥ #i9 I e acgH gl g7

Options:
1. & T
2 % d9cH



Question Number : 170 Question Id : 497959576 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

BT & § 2 o &iF T 7?7

Options:

2. v TEEH

Question Number : 170 Question 1d : 497959576 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T 7 O 2o e i & 87

Options:
1. » @R
2. v T
3. » Td
4, » @IS

Question Number : 171 Question Id : 497959577 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25
o # o Ref o #iT Tm g2

Options:

1. » fee

Question Number : 171 Question 1d : 497959577 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

o # o Ref o #iT Tm g2

Options:
1. v Twe
2« EfE
3. x TS
4, = @er

Question Number : 172 Question Id : 497959578 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T & @ 5w oreg & 3o 3= 27

Options:



Question Number : 172 Question 1d : 497959578 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e & & fFE oreg F7 ao = B2

Options:
1. = HiTea i
5« TG

Question Number : 173 Question 1d : 497959579 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HITE-3MET Aeg-oH T Tl 37 ¢

Options:

1 » 3IFH, SIS



2. % HEUEd, HGIh

3 x HFTES, HRFH

4. o IANF, F&TEd

Question Number : 173 Question Id : 497959579 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HITE-3MET Aeg-JeH T Hel 3T &
Options:

1. = ¥RE, s

2w HEUES, 3EH

Question Number : 174 Question 1d : 497959580 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘G T HY AT g

Options:



Question Number : 174 Question Id : 497959580 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘WA T T AT 2

Options:
1. = W&
2. v 3T
3, » @
4, = sor

Question Number : 175 Question Id : 497959581 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘T FJATAT I TF WY F BT UF e 2
Options:



Question Number : 175 Question Id : 497959581 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘FAT SATAT AT Tk HYT & T TF e 2

Options:
1. = 9=
2. % 9P
3. v 7@
4, = FAT

Question Number : 176 Question Id : 497959582 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘FgEoae’ Tohg I SF T 27
Options:
1. «» HAEGa==R

[
AR R IEGEIEES

/. « TETETES

Question Number : 176 Question Id : 497959582 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



‘TgEoaT ohE IR & T 27

Options:

1. v #ga=F

2. « FdErEe
3. 0= CHEEIEED
4w TETHETEH

Question Number : 177 Question Id : 497959583 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

o 7 ¥ fo=a=s 539w 3T 7@ 872

Options:

4 v 3M

Question Number : 177 Question Id : 497959583 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T 7 o Tsa=s gaa" Fig T g2

Options:

1. = W@




Question Number : 178 Question 1d : 497959584 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tz g 9ot &7 Taoor 27

Options:

Question Number : 178 Question Id : 497959584 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T fFE 9T &7 fEerwor 27

Options:



Question Number : 179 Question Id : 497959585 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

o & © gronds BT i O 27

Options:

1, = Fee

Question Number : 179 Question Id : 497959585 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

o & © gronds BT i O 27

Options:

1, % &



o =

Question Number : 180 Question Id : 497959586 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

o 7 ¥ FlF @ gaETEys 3T @@ 87
Options:

1. »

7 o I

Question Number : 180 Question Id : 497959586 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e 7 ¥ 7 1 gg=TTEys ey 7@

Options:

1. » W
2, v
3. = &
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Question Number : 181 Question Id : 497959587 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘HT: + TF FT GIO-FT gE
Options:
1 «» ¥aug



Question Number : 181 Question Id : 497959587 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘HT: + UF FT GIO-FT gE:

Options:
1_  HdUd

2_%34%'?3'

Question Number : 182 Question 1d : 497959588 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

g\ # FiF 7 §AF 872
Options:

1%@

2. & TN

Question Number : 182 Question 1d : 497959588 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

g\ # FiF 7 §AF 872

Options:



3. v Hegdea
4. x I

Question Number : 183 Question 1d : 497959589 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘wiowT # B 39Ee & e g3 -7,
Options:
1.5 A

2. v HE

Question Number : 183 Question Id : 497959589 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘FawT # B 39mer & e g3m &2
Options:

1. = &



Question Number : 184 Question 1d : 497959590 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T H FoRT JoTT T g 82
Options:

1.« ¥

2.«

Question Number : 184 Question 1d : 497959590 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T H FoRT I T g 82
Options:

1 » ¥

2. =« W4



Question Number : 185 Question Id : 497959591 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T 7 O =7 I e =iferEr 22

Options:

Question Number : 185 Question 1d : 497959591 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T 7 ¥ FiF 3@ aeg &=feE 32

Options:
1_ % 3I991F
2. % 39RO



Question Number : 186 Question Id : 497959592 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘HATFT Fex o9 T ISTT FT 3IEI0T 87

Options:

1. » T TEF=T

7y [EROT SEEeyT

3 « TaAH TgEeY

4. » & SgEey

Question Number : 186 Question Id : 497959592 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘HAleFT FEa o9 359 ISTwEr F 3SEL0T 27

Options:

1. » U T

2w Ewor 9gEey

3. % TaAH TcEY

4. » O ogeey

Question Number : 187 Question Id : 497959593 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

‘9UTH o el & & '-;::};dul’ g 7 H 'HE:?'!T FE 9 & 39917 g7

Options:

1. « T 391

7 % TAAH 39T
3 » faowur sgaeT

A « TEfaeyor sqEmeT

Question Number : 187 Question Id : 497959593 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘9UTH o el & & '-;::};dul’ g 7 H 'HE:?'!T FE 9 & 39917 g7

Options:

1. v T 395G

2 % TIATH 399

3.« [Eowur suaeT

A, « TFofEewor 39T

Question Number : 188 Question Id : 497959594 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT % AR HieT | AT H FHR A8l 27

Options:



G2
!
3

Question Number : 188 Question 1d : 497959594 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT & HJHT HiT W IFT HT GFR 76l 22

Options:

1. = TIA GFT

Fice I
2. ¥ 3

:
]

Question Number : 189 Question Id : 497959595 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

H HET AR I T R YR # 9T g2
Options:




Question Number : 189 Question Id : 497959595 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

H T 3R FE T R SRR & e g7

Options:

1. = TIA GFT

2 x M@ asw

3 o \H*_!_ﬂ'd e

Question Number : 190 Question Id : 497959596 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TH wer T veR # 9w 72
Options:
1. v HTAETRH

9y HegaTdh



3. » Thdaras

[
4. &« TEEAEES

Question Number : 190 Question Id : 497959596 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A 9T FE YFR F AT 22
Options:

1. v HToEEw

Question Number : 191 Question Id : 497959597 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TSHA HT TRC T FiT W AT YL 7

Options:

1. = 8= ar far F)
7w SSAS IFar 7 B

3, v T F disa R



A « ¥ar & BT o=

Question Number : 191 Question Id : 497959597 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

UEHA & T W FiT A AT YL 7

Options:

1. « &=t BFar oiar )

2 = =T 3ar & B

3. a7 s R

A, « Far & BT =)

Question Number : 192 Question Id : 497959598 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e HY TRC T P T AT YL &7
Options:

1 « Far-far d=

0 HAE-EAr S8 g

3 x HC-EEr 33 Bl

4 o Fa-RE ¥

Question Number : 192 Question Id : 497959598 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25
ey # TRE W HiF A AT Y &7

Options:

1. « H-Er d37 2

2w AT 38 g

3. x HE-OEr 35 g

4. » HE-FEEr 35 g

Question Number : 193 Question Id : 497959599 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

P e TaETEr 27
Options:

1 « F

-t

2. v HEA

Question Number : 193 Question Id : 497959599 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘Faey Torwesr TaTETEr 27

Options:



Question Number : 194 Question Id : 497959600 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘HTE =T JITIETET g
Options:
1. v 37+

Question Number : 194 Question Id : 497959600 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘HG FT JIIE=ET &
Options:

1. v 3F=



3. x e
4&3:!-[???

Question Number : 195 Question 1d : 497959601 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘HGol T JAITGT=T A8l &

Options:

3. v

4w A=A

Question Number : 195 Question Id : 497959601 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘ASoll & TATTET=T A6l ¢

Options:

1. » &

2 % TH



Question Number : 196 Question Id : 497959602 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘T forwer gatgETE 37
Options:

1. &« &1ar

2
&
G

Question Number : 196 Question Id : 497959602 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Options:
1_ % HAldl
2. v &

3.« fbar



Question Number : 197 Question Id : 497959603 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘FIFHT H FT F1 HT &

Options:

1. = FHzoT

2. % &

®

&g

o
2-_'}-

4 v TH

Question Number : 197 Question 1d : 497959603 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘FIRHT H FT FT T %’:
Options:

Question Number : 198 Question Id : 497959604 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25
‘Hieata & aeidm gem:
Options:

1. « 3a=alE

7w HATdT

Question Number : 198 Question 1d : 497959604 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘Hieafad’ &1 faere gem:

Options:
"| R 4 3-1?11?3'%
2. = Hellead

¥
O

Question Number : 199 Question 1d : 497959605 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ey F faers gem

Options:



Question Number : 199 Question 1d : 497959605 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ey F faers gem

Options:

1. = FH
2w HW
3. % STcH]

Question Number : 200 Question 1d : 497959606 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FTST T SIS Fer gl T ATFT & J@Mehed USE H Taeils Iem:

Options:
1«



4.« T

Question Number : 200 Question 1d : 497959606 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ST T e FEl gl ET| AT & (@M A H TaeilA grem:

Options:

1, « B¢
2. v ud
Saafam



